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PART -1/ ¥IFT - 1
CHILD DEVELOPMENT AND PEDAGOGY / 911 fas1 9 Riemem=

Direction : Answer the following questions (Q. Nos. 1 to 30) by selecting the correct/most appropriate options.
[T : frefoiaa g (9. &1 1 @ 30) F W &7 & [o7¢ @gh/Tad 39gaF faseq g/

1.

According to Vygotsky, what is the role of the teacher in facilitating cognitive development ?
(1) To provide information and knowledge to the student.

(2) To guide and support the student’s learning through scaffolding.

(38) To allow the student to learn completely independently.

(4) To give only those tasks that the student can currently do independently.

k! o STTUR, WM forehrd sl o s # frerss st 9 ofie €2
(1) BT H TR SR FH GG AT |

(2) ST & HIEAH Y BT & WG H1 AN IR qHeT |

(3) B & Y TWE ¥ WA ®9 9 @A St STAf <A

(4) HaA I AT Dl <A1 S forEneff FHH | WaT €9 | H Rl ¢

Which of the following statements about adolescence is not correct ?
(1) Adolescence is a social construction.

(2) Adolescence is generally considered to begin with puberty - the process that leads to sexual
maturity and the ability to reproduce.

(3)  Adolescence is developmental transition between childhood and adulthood entailing physical,
cognitive and psychosocial changes.

(4) Children across different cultures usher in and experience adolescence in a similar manner.

fopsirereen o o # frfafad 9 § SF 91 w7 98 98 © 2

(1) TreiRmEen T Arifss A

(2) TReIRTeRe Sl SAHAR W e H1 & HH o (0 I+ 11 © - 9 T T 9ihan & S 9 afRkoeerd
3T q%cIE i &THaT i IR o St 7 |

(3)  foreiRTerEen oA iR THwhdl o o9 AT GehHY § e i, WM SR FHEmiSes
TRERH B § |

(4) fafvs Swpfadl & o= THh TAE Tk | fheieen § ga9 3d € iR 38 319 & B |

Sujata participates eagerly in the dance competition only because she is interested in winning the
first prize of cash. Sujata is :

(1) Intrinsically motivated (2) Extrinsically motivated
(3) Mastery-Oriented learner (4) Failure-avoiding learner

GITT T YT § kel SHfelt, Sagehdl § 9T Tt © HFifh a8 7ohe o1 YoH JUEhR Sia § & Tt
T o -

(1) sTiafe &9 § 9@ 7 (2) @TEd w99 ARG 7

(3) TRRA 3@ fameff 71 (4) STHwE URER faanedf ¥
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4. In order to address the individual differences among learners, a teacher should :

(1) acknowledge differences as abnormal and kind of deficit
(2) Dbe indifferent towards individual differences
(3) consider differences as obvious feature of human diversity

(4) implement a rigid and uniform curriculum for all learners

Taqferi o o= saferra foraistl w1 Haifed w1 & fag e e = -

(1) A9 I ST 3R Tk YR i HH & &Y H WHHR HAT 91T
(2) Al FHAST Tl ToR-SIS HEAT ALY

(3) Timmmed w1 ama fafasar &1 gore foRwar & €9 § 7 =1eg

(4) |t frenfefl o faw w7 iR 9HM WeEshA @] T =1y

5.  Jean Piaget believed that knowledge is :
(1) constructed by the child rather than being passed passively from the environment.
(2) innate and given rather than acquired through interactions.
(8) co-constructed in interactions with more knowledgeable others.

(4) a visible behavioural change that can be measured with reliability.

S S R AT A R IE R
iRl ¥ faferg w9 @ wiftd 81 & somg o= g fafda femean sman 21
2)  3fq:foraned o Hiemm & I S o aee S iR e gan S 7

(1)
2
(3)  3IfYsh MR 3177wl o @1 ara=id ¥ g8-fAfa g €1
(4)

4) U ¥F R e © i faveagieadn & @y 2y s gehdt §1
6. Ina progressive classroom assessment is :
(1) Dynamic (2) Objective (3) Summative (4) Normative

Teh Wfaeiel hefl § 3TTeha
(1) Tl (2) ITHASTMTl  (3) IANMER MG (4) HHE Hofdd Fr ¥

7.  Which of the following process is essential in meaning-making of the information received from
environment and store it further in memory ?
(1) Attention (2) Decay (38) Forgetting (4) Retrieval
frAfafeaa 5 @ S d gfshan araeRe § g SHERT & 21ef-fafor ofk 38 |fa § o1 "udla &+ & forg
TTEF 77
(1) = (2) & (3) e (4) gwife

P-IT ([ RRTRT A nm 3 M



8.  Which of the following is an example of a question that requires students to analyze information ?
(1) What is the plot of the novel “To Kill a Mockingbird” ?
(2) What is the theme of the novel “To Kill a Mockingbird”?
(3) How does the author use symbolism in “To Kill a Mockingbird”?
(4) Who is the protagonist of “To Kill a Mockingbird”?

frafafea § 9 9 91 T T Y99 1 Serelul © TS9d STl &1 SR okl oty shid i STeehdl Bt
g?

1) ‘2 foa T Hifeee’ SU=mg &1 HUME 1§ ?

2) '3 T T Hifehere "’ 3u=rd o o Fm © 7
3) ‘2 fra T HifETeE " § oiEe Tdihare i ST Y H © 2

4) g Ra T ARREE " & e i © 2

(
(
(
(

9.  Assertion (A) :
Teachers should constantly reflect on their own stereotypes and bias.
Reason (R) :
Culturally responsive teaching means that teachers are reflective.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.
(4) Both (A) and (R) are false.
AHAT (A) :
foregent o1 FREX 3T T & Efganfear IR qaiEl R o we =rfew |
T (R) :
giepfas T | IR freror o1 219 ¢ o freres feaeia 2
et foshed I |
(1) (A) 3R (R) I F&I € 31X (A) T (R) HeEl ST T ¢ |
2) (A) 3R (R) I & T AfHA (A) i (R) T =A@ Tl Al T
(B) (A) T2 § AfhA (R) Tod B
4) (A) 3R (R) ST TTerd T
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10.

11.

The central argument of Carol Gilligan’s critique of Kohlberg’s theory of moral development is
around :

(1) Ethics of care and the feminist perspective.

(2) Overestimation of children’s moral abilities.
(38) Use of experimental design in studying children.
(4) Educational implications of the study for school going children.

Fhreatart o Afde faera & fagia &t e M &t A= &1 Ha™ d& ©
(1) <@ &t Afqehar 3R et gfvenmn |

(2) o=l T Hideh &S i STk 3Tk |
6))
(4)

= & ATIT | YA Y JOert 1 STFT |
el S 9T S o fore steme o Sifares ffeane |

3
4

Assertion (A) :

Learning from real-life problems and concrete experiences gives the children multiple pathways
for learning and retrieving information.

Reason (R) :

Development is relatively orderly and sequential.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

fmeT (A) :

Sfoeh Ste i FEEstl SR i sTval 9 HeH § =i &l ST 3R SR U &7 o foag &g T
fera €1

<hIUT (R) :

forehr eTUeTRa et iR STk ¥ |

Tl fahed I |

(1) (A) 3R (R) I T T TR (A) = (R) T AT HIdl |

2)  (A) 3R (R) I T T AfHA (A) T (R) TEl AR Tl AT B |
3) (A) T T AfHA (R) TTerd 71

4) (A) 3R (R) ST T B

P-IT ([ RRTRT A nm 5 M



12.

13.

14.

Dyslexia is a condition which impacts learner’s ability to
(1) emotional, draw pictures

(2) neurological, link sounds with symbols

(3) physiological, socialize with peers

(4) sensory, coordinate body movements

AUued dhca/feifomen wen  frafg @ < fwemef vt 1 &7 o1 gIfod Sl €
(1) wreARE®, fo 31

(2) /=R, LafTel S gl fawl & e sied

(3) e, wiferl % eSSt

4) Ha, e nfafafirl & gua

1

4

A middle school teacher wants to enable meaningful learning by helping students make connections
between concepts and real-world applications. Which of the following activities would be an
appropriate pedagogical strategy ?

(1) Let the students memorize terms and definitions.

2)  Let the students complete worksheets with multiple choice questions.

(2)
(38)  Let the students learn by the method of stimulus-response conditioning.
(4)

4)  Let the students research on a current issue in small groups and present their findings to the

class.

T AeATHS That frereh BTE 1 Hehouriel $iR arfae i o STIUEN & o Hee M § Heg Hih
Hrefeh TeH 1 Fem o9 9edl © | FAfafed § @ &F 9 nfafafy te Sugea Sefore Tortta grft 2

(1) BE ® e SR R o A <)

(2) Toenfoi @ agforedta Tl arelt S 95k I8 L Al *T |

(3) Tornfei w1 SErueh-Tfdfshan STgsie i fafy g1 dEA &l &g |

(4) OEI I B TR H F0TH GE T INY F < AR 97 Freme e H wwd w1

In which stage of Kohlberg’s moral development do children’s reasoning revolve around ethics of
law ?

(1) Pre-conventional morality (2) Conventional morality

(3) Heteronomous morality (4) Autonomous morality
HIecTsrt o Hfdeh fasrd =t forg sawen # =i &1 Toh HFA HI Afdhar & 36-TTS o € 2
(1) Yd-uRufRes Afdehar (2) HRYRER Afdshar

() o Afawar (4) TR AfdEwRT

P-XT {IARIRT DA nm 6 M



15.

16.

17.

Which of the following does not exemplify an inclusive classroom ?
(1) Incorporation of diverse perspectives

(2) Following reasonable accommodation

(3) Offering differentiated instruction

(4) Encouraging competitive ethos

frferfiaa | i T HHreR Fan w1 ST T e ?

(1) fafay i 1 gaem

(2) 3fud FEERE 1 aed

3) fasfed fdw <

(4) gfaeast Tehm=R i YicdTied LT

Work in progress Portfolios are an effective tool for formative assessment because :
a) They involve students in the process of assessment.

b) They offer insights about the progress of individual students.

(
(
(c) They focus mainly in the presentation of the final product.
(d) They offer tangible evidence of student learning.

(

1) (b), () 2)  (a), (d) 3) (), (b), (0 4) (a), (b), ()
oI Hediohd & feTT e & Jfd o1 < Gewhiferal Teh JuTell Julel § Fifeh -

(a) o odich St Hishal B BTl bl IMTHA Hd & |

(b) & GG BE I WA IR § TG TS L 2 |

(c) o = ¥ 9 AfaH IR i TRfd W &1 higd L & |
(

(

d) 9B ARAH % 3G Fed U FQ T |
1) (b), (9 2 (a) (d) 3 @ (®), (0 4  (a), (b), (d)

Which of the following describes a mastery goal orientation ?

(1) focus on achieving a certain level of performance for competing with others.
(2) focus on improving ones” skills and understanding of a task.

(3) focus on achieving a high grade for receiving external rewards.

(4) focus on avoiding failure or punishment for fear of humiliation.

=1 @ 9 W1 T Hend ey Sfufa=g w1 o wid g ?

(1) T & oy gfaeadt e & faw wew Fied W % 98w o 9H & T & S |
2) Toeht =R & foau sTot Fiee $iR 99eT Sl GUIRA W &AM 1

(3) TR YUK UM A % T 3= U U A W e ST

(4)

AYAH % ST Y AGHAT I TS ¥ =1 W & <7

P-IT ([ RRTRT A nm 7



18.

19.

20.

Which of the following best describes the role of the teacher in progressive education ?
(1) The teacher is the primary source of knowledge and authority in the classroom.

(2) The teacher provides diverse materials for children to experiment and provides scaffolding
as and when required.

(3)  The teacher is responsible for ensuring strict adherence to curriculum standards.

(4) The teacher lets the children learn independently and does not interfere in their learning.

frefafad § § &1 gfaia fen § faae ot fte w1 9e8 311 9ui & § 2
(1) foerer wen ¥ 99 IR WfteR 1 Wfhes S 2|

(2) Toeren I=i 1 HAN oA & T fafay A geE #a © iR STevasRal 98T W ST JeH L
S|

(3) Torereh wreer=El AR 1 HeE ¥ e gHfved w1 % fore ferer 7
(4) Tk o=l )l AT €9 § HEd @ 3R Ik e § FRIA T8 w |

Asking Critical questions such as “how much and in what ways are various gender represented in
textbooks and media” would encourage :

(1) Questioning gender stereotypes (2) Strengthening gender constancy
(38) Reinforcing gender identity (4) Discouraging gender role flexibility

" qreqETenl iR Hifean § fafim Sex 1 wfafafa fora R fore e | foran STa1 §°7 519 Hewerqol o9

I8 9 foheeh! T fietm ?
(1) St Efed T Fare 3o (2) S feerdl &l 7elgd
(3) SIS IEAM I HEd Tl (4) I fHeRT St THIAT % galcaIed

According to Jean Piaget the ability to use symbols for symbols such as letting the letter X stand for
an unknown numeral develops during and enables the children to learn

(1) concrete operational stage; algebra and calculus

(2) concrete operational stage; conservation and seriation

(3) formal operational stage; algebra and calculus

(4) formal operational stage; conservation and seriation

ST foamst o ST7ER Tl o fore ol o1 TR 6 bt &7mal S o 378 X &1 S191d 37 & foTT A ot
&l o SN Tkt grelt ¢ TR ferenfefei =1 e | wer SR 2 |

(1) T fshaTceh STereel; Sriord 3iR 7o
(2) T HfshaTcTeR STereeT; T SN hHeSl
®)
(4)

frqenfier dfsharcaen STerEen; sSforg ST’ T

frq=nfier Hfsharcder 3Taer; T 3R HHegal

P-XT {IARIRT DA nm 8 M



21.

22.

23.

Alok shows the following behaviours : Holds head in an awkward position when reading; squinting
and rubbing the eye frequently; redness/swelling of eyes; confusing letters. These can be symptoms
of potential :

(1) Visual problems (2) Language comprehension problems

(3)  Autistic spectrum disorder (4) Communication disorder

3T Frefafed sraer foam § @ Tgd 999 fR &1 oie fufa o geve; i@ & 9R-9R Ge 3ik
TIET; AT T ATeA/Go; AR U= | yfia 81 | 78 fhaess denfod aemn & g € 2

1) 3 He geemd (2) T T TESA T TEET

(3) EEAM fashR (4) HIR Gedl fomr

Assertion (A) :

In an inclusive classroom, adaptations should be made in learning goals, pedagogical strategies as
well as assessment.

Reason (R) :

The philosophy of inclusion advocates elimination of all individual differences through pedagogical
approaches and assessment.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

fweT (A) :
T TR el o, Hiae & e, Setforen ool o -y oo # ST e foran ST = |

<hIUT (R) :

TR o1 T Jeafores SR oIk qedichd & weAm ¥ i TR Hawsl S THH HI 1 SR
FA R

Tl fashed I |

(1) (A) 3R (R) I T T 2T (A) = (R) T AR HIdl |

2) (A) 3R (R) I T § AfHA (A) T (R) TEl AR Tl BT B |

(3) (A) §& T &fehd (R) TeTd

4) (A) 3R (R) ST T B

According to Lev-Vygotsky children benefit from the experience of interacting with
while working their zone of proximal development.

(I) more knowledgeable others; within

(2) more knowledgeable others; just outside

(3) the physical environment; within

(4) the physical environment; just outside

TS AT o STIHR 9= % WY ia:foRan & STgvE 9 anwifad 21 § R 3 HEf Sl R O
T S S weiuguigE e & & % gl

(1) 3ifHeh THHR 374; 3T

(2) Al SR 3=, o9 el

(3) ifaer aameRer; iex
(4)

4)  fifqer aTdmeRor; 99 SRl

P-IT ([ RRTRT A nm 9 M



24.

25.

A teacher notices that one of her students is highly distractible and has trouble paying attention
during class. Which of the following strategies would is an effective strategy in helping the student
stay focused ?

(1) Giving the student repeated tasks to do during class.
(2) Strictly telling the student to increase their attention span.
(3) Giving a timer to student for self-regulation and time-management.

(4) Calling the parents and taking strict disciplinary action against the student.

e Tiferent =1 Aifeq foman o SRt e B Tty fa=ford ® 3iR S8 el % SRE &9 o § e =it
¥ fAfafed § 9 S 9t WG 313 61 Shigd w1 d Heg Hd & U T g WAl 8l ?

(1) T I HaM & A TR-9R A & ferg Hef 7|

(2) BT & W& F AU STIUH TAY qgH ok AT e
() w@-fEe R TEE-vEEE & fau B # 2EW )
4)

4)  Har-Tod sl FerRt BT o R &1 SIS hers e |
Assertion (A) :

Students are more likely to do well and stay in school if they have emotional attachment to their
school and believe that they matter.

Reason (R) :

Emotions play a significant role in learning.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

ARweA (A) :

ST o 3T Q¥ i 3R Thel T o T ohi 3Tfeeh Hre B A Ih! 39 Tohel ¥ HoHATHS o1 ©
3R 3 A € o 3Rt BT A T R

T (R) :
WY Eree § eyt offaent e |

et foshed I |

(1) (A) 3R (R) I T T IR (A) = (R) T AT 3l |

(A)
(2) (A) 3R (R) S T € AR (A) Y (R) Tt AR Tl LT § |
() (A) T T AfhA (R) Tomd
4) (A) 3R (R) ST Terd T

P-XT {IARIRT DA nm 10 M



26.

27.

28.

Which of the following is a core principle of constructivist learning theory ?

(1) Teachers should provide direct instruction and explicit guidance to students.

(2) Learning occurs when students receive correct answers and feedback from teachers.

(38) Students construct their own knowledge through active engagement with their environment.
(4) Learning is primarily a passive process that involves receiving and memorizing information.

frefafed 8 9 &1 @1 SEAER! iftrm fagia @ qa fagia g2

(1) Toereni o SE1 &I Te 9 3R 98 ARG 98H Tl A6 |

(2) ST q9 BAa € S B b1 el & W Iw iR ufayfy faerd g1

(3) T 3T AU & WY HihT Heral & Teaq § 79+ I 1 FHior d ¥ |

(4) ST g= w9 | T Mg afran § e o ume S SR 9K W@ i g

Assertion (A) :
The less able a child is to do a task the more directions the teachers should give and as the child can
do more and more the teacher should help less and less.

Reason (R) :

Intelligence cannot be accurately measured by calculating IQ.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

AfmeT (A) :
Teh o= fopl) i ol A | Sa1 o0 9er Bian €, f1erent ol 3aq €t 21fees Heha o 39N <) =nfey 8iR
S-S o= AT @ SAfF FR TehaT ©, V18T I A W T A HEA! A1M6T |

<hIUT (R) :

g I IfG-TAT T TUHT Hieh Wleh &Y F &l AT ST Hohell © |

e fased T4 |

1) (A) 3R (R) I T&I € 31X (A) T (R) HE AT Ll © |

2)  (A) 3R (R) ST T € AT (A) B (R) Tl AR Tl BT § |

3) (A) T T AfHA (R) TTerd 71

4)  (A) 3R (R) S Terd B

Which of the following characterise the process of socialization ?

(a) Itis a linear process. (b) Itis a complex process.

(c) Itis a multidimensional process. (d) It takes place uniquely in different cultures.
1) (@), (b) (2)  (b), (9 (3)  (b) (), (d) @) (@), (b)) (d)
fr=fafeaa § 9@ o8 o Aot st gfshan ot fogan g2

(a) IE TH TG UfeRa T (b) I T e ufshan T

(c) % U IgTarH Hishan ¥ | d) e fafie denfaal § fafem &1 9 g €

1) (@) (0 2) () (© (3)  (®) () (d 4) (@) (®) () (d)

P-IT ([ RRTRT A nm 1 M



29. Assertion (A) :
There is no objectively definable moment when a child enters middle childhood or adolescence.
Reason (R) :
Development is continuous in nature.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

AR@weA (A) :

IE DS SEYATCHS TS &701 & B o IS o= WA oA A1 RS | Foe i ¥ |
T (R) :

forerma, wepfa # faR & Tean 21

e fased T4 |

1) (A) 3R (R) I T T IR (A) = (R) T AT 3l |

(2) (A) 3R (R) S T € AR (A) Y (R) Tt AR Tl Il § |
() (A) W& g &fehd (R) TTeTd T |

(4) (A) 3R (R) SHI Tord ¥

30. Anelementary school teacher can strongly influence students” development of academic self-concept

by :

(1) Keeping very low expectations from all students
(2) Punishing autonomy and initiative in students
(3) Rewarding autonomy and initiative in students

(4) Keeping very low expectations from special students

T YR fommera 1 fere B/ & erford AT-due & fosr & gear 9 gifad o el © ¢
1) |t foenfeli & sgd w9 sTd&Md W@

2) B H Wl SR T8 i fed HEl

3) BE H W 3R T8 Hl IEhd Sl

(
(
(
(4) ToR BT | 954 ®H 3G W@

P-XT {IARIRT DA nm 12 M



IMPORTANT / Hgeayqof

Candidates have to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
Part - 111 (Social Studies / Social Science).

gitgnfefat &t w9731 @90 AT Gt 9T - 11 ( T F f&GF717) a1 4T - 111 ( QrEfSes 7997 / Qs
faarT) @ & &

PART - Il / YT - 1l
MATHEMATICS AND SCIENCE / o1 9 fasm=

Direction : Answer the following questions by selecting the correct/most appropriate options.

[T : fefciiaa T @ W &7 & [l Qgl/aad 39ga faeeq g

31.

32.

33.

BD is the diagonal of parallelogram ABCD such that ZCBD=12x, ZABD=7y, ZADB=60° and
ZCDB=28°. Then, the value of 2x+3y is :

(1) 20° (2) 21° 3) 22° (4) 23°

fordt T 9gdS ABCD @1 fa&ul BD 30 YR ® fF £CBD=12x, ZABD =7y, ZADB=60° iR
ZCDB=28°§1 @ 2x+3y &l A T :

(1) 20° (2) 21° 3) 22° (4) 23°

A student listed the following properties of Rational Numbers. Which one/ones is/are correct ?
(a) A rational number includes integers.

(b) 0O (zero) is not a rational number.

(c) All fractions are rational numbers.

Choose the correct option :

(1) (a) and (c) (2)  Only (b) (3) Only (c) (4) (a) and (b)
e fereneft = il gemeit % frefatad qoemt o 9=t o | T 9 SE-arE 96 e 2
(a) T ufEE demn § quie |fmfad 71

(b) A (0) TRAF Fe T T

(c) Tt fu= uftde g Bt ¥

el fased 94

1) @ ¥R () F () () F () () @ ¥R )

One of the factors of p3x+p?(x—y)—p(y+2)—z is :

(1) p>x-py+tz  (2) px+py+z (3 pA-py-z (4 px+py-z
p3x+p2(x—y)—p(y+z)—zﬁo‘1lffﬁ'@|ﬁﬁ@@W%:

(1) p>x-py+tz  (2) px+py+z (3 pA-py-z  (4) px+py-z

SPACE FOR ROUGH WORK / 7% &Td & feg swg
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34.

35.

36.

37.

If the median of the data 30, 8, 7, 3, 17, 15, 21, 24, 29, 23 is x and the median of the data obtained
by replacing 3 by 33 and 8 by 18 in the above data is y, then what is the difference between
yand x ?

M 1 2 2 @ 3 (4) 4
afg TSl 30, 8, 7, 3, 17, 15, 21, 24, 29, 23 T HIEAH x & 3R 37 sl H 31 33 4 AW 8 1 18 9
iR i T U STl 1 AIeAs AfG y T, Ay iR x 1 TR M T2

® 1 2 2 ®G) 3 4) 4

Three numbers are in the ratio 2 : 3 : 4 and the sum of their cubes is 33957. What is the sum of the
three numbers ?

(1) 54 2) 63 (3) 72 (4) 81
T Gt 2:3: 4 % U H ¥ IR IAF T 1 A 33957 €1 37 A4 e w1 A o ¥ 2
(1) 54 2) 63 3) 72 (4) 81

The number of vertices (V), edges (E) and faces (F) of a polyhedron are respectively 10, 15 and x.
Then, the value of (3x—12) is :

1 7 2 9 () 14 4) 18
et SIgwheTehl & ST (V), fFARI (B) iR weteh (F) ot H&amd shaen: 10, 15 3R x €1 @ (3x —12) &1 O
g

1 7 2) 9 () 14 (4) 18
_ _ -1
If X _ (__1) ° - (Ej 4, then what is the value of LA zj ?
y 3 3 y X

3 19 38 48

M "3 2 45 G - @ "5
_ _ -1
GERE ’ -(3) Yy [ﬁ " zj 1 7 2
y 3 3 y X

3 19 38 48

1) 75 2 g ®) 7 @ "o

SPACE FOR ROUGH WORK / 7% @&Td & {eTT STTg
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38.

39.

40.

41.

Concept was labelled as ‘Schema’” by :

(1) Vygotsky (2) Piaget (3) Bruner (4) Van Hieles

_ TOW STAYROT hl Wi’ ok ®9 § AMifhd fRar T o)

(1)  SETEent 2) frs 3) TX 4) oA

If x=1.011+10.11-12.101 + 0.1011, then what should be added to x to get the sum as 1.1 ?
(1) 1.9789 2) 0.3111 (3) 0.2211 4)  1.1311

afg x=1.011+10.11-12.101+0.1011 &, & x H =1 Sel WY, f9E IThet 1.1 9Tt &1 2

(1) 1.9789 2) 0.3111 3) 0.2211 4) 1.1311

Teacher conducted an oral assessment in class and found that Ram can speak definition of all
types of numbers - odd, even, prime and composite accurately, but not able to identify the numbers
accurately when given a set of numbers.

Which of the following is most appropriate for the above situation ?

(1) Ram has good memory but lacks practice.

(2) Ram has good memory but lacks concentration.

(3) Ram has good memory but lacks conceptual understanding.

(4) Ram has analytical ability.

Toreren 1 e © HifEe STohe 1 TS TR fSE9 9% a1 =i foh v fomm, oM, A9 3R 9 St
Tft gR ot Tensil wt gured § § qRU 9d1 TRl €, W] 9 G & 9= foa T 99 9%
Heel ol |el €9 9 UgdH Tl qA |

S TRfef % oy Frefated § @S9 o sfi-suged ¥

(1) TH %t TR v T3t § Teg 31819 Y el § |

(2) U9 I TR0 A ST=S! § U] TR i A Q|

(3) T I TR WK TS § T FTIRUIHS a4 i HH ¢ |

(4)

4) TH H fIvAvocHs IradT g

A shopkeeper sells an article for I 324 after giving a discount of 28 % on its marked price. The cost
price of the article is ¥ 300. If he sells the article by giving 18% discount on its same marked price,
then what will be his profit percent ?

(1) 10% (2) 19% 3) 23% 4) 24%

IS THMIR Teh I&] hl ST Afhd Jod W 28% i T2 IH T 324 R o= ¥ 1 T% H1 3 T T 300
T it o7 39 a5 FI 3T I HAfohd ToI W 18% i T IR oI, 1 IHehT AT Faerd 1 BT 2

(1) 10% (2) 19% 3) 23% (4) 24%

SPACE FOR ROUGH WORK / 7% &Td & el sirg
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42.

43.

The product of two rational numbers is —4—;. If one of the two numbers is —g , then the reciprocal
of the other number lies between :

1 3 cli 2 2 dl 3 1 dl 4 1 dl
(1) 20an 50 (2) 50an 5 (3) 5an 4) an

< ufes Hened & UHEd —4—; g AR A demsli 4 T —g T, @ g Hen & Fokd 1 %
S fea

9 9

1 1
50 2 50 5 @) 7 R

N
[SSRI

1
(1) 5y ¥R () 7 ¥R
A class VI mathematics teacher posed the following problem to her students :

“In a morning walk, three persons started together. Their steps measure 70 cm, 85 cm and 95 cm
respectively. What is the minimum distance each should walk so that all can cover the same
distance in complete steps ?”

Which of the following concepts would be required to solve the given problem ?

(1) Concept of HCF

(2) Concept of LCM

(3)  Concept of division

(4) Concept of proportion

Hell VI &1 Teh TI0Td ot fRrfarent = 31o foenfei o wmer f=fafad a1 @i

‘U W WO dF At T W e YR I €1 ST wedl o g s 70 WAL,
85 3. 3K 05 A, ¥1 T W T = R g T Y T8 T R e # T  w?
frefafead § -9t SrauRomd fSU T 999 &l 86 A & feu sTeavaes i ?

(1)

(2) ETH HHYES (9. ) i STERT
®)

(4)

HedH GHYEd (H.9.) hi STTERON

fayrs =t staERon
HHIT i STEER

SPACE FOR ROUGH WORK / 7% & & fag wig
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44.

A student was given the following problem on percentage to solve,
“Find the percentage of decrease if the population of a city decreased from 28,000 to 26,500.”
She wrote the following solution,

Original population = 28,000; New population = 26,500

26,500
0 =" x100% = 94.6%
% decrease 28,000

Which of the following is most appropriate with respect to the response of the student ?

1 Student is able to understand the concept of percentage but is not able to understand
p P g
percentage of which quantity is to be found.

(2) Student has solved the question correctly but has used wrong symbols in solution.
(3) Student does not know the concept of percentage.

(4) Student has made a careless mistake.

T famnefl 1 gfaerdar W Frefafiad o gd &3 &1 & T,
“ 3R ek Y& i SHEEAT 28,000 H FEHT 26,500 B T § I STHEEA & ¥ ohi Fiawradr Jd shiferg |’

~

3 f=fafaa g foran,

YRR SIS = 28,000; 95 SHEEAT = 26,500

26,500
28,000

foremeft & IR % el A Frafafead § & o wed Iuge § 2
(1)  Toremeff gfaerad st STaYROT 1 FHeH § &M € W 96 I8 999 9 § 98 78 ¢ T form uf¥n =t

gfcreTear I e T
(2) Tormeff 7 797 1 TR Ak ¥ A TR B foheg 397 SR H TTera o=l o1 394 fohan 7
(3) foeneft gfaeraar i sT@uRen 1 & S|
(4) fo=neft 3 sTa@EYTEw T I i B

X 100% = 94.6%

A H % =

SPACE FOR ROUGH WORK / 7% &Td & el sirg
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45.

46.

47.

The difference between two supplementary angles is 20°. If the smaller of these angles is p, then
the value of 3p—50° is :

(1) 310° (2) 270° (3) 250° 4) 190°

31 T IO hT SR 20° B 1 A 376 | BRI HI0 p T, A 3p—50° FAH T :

(1) 310° (2) 270° (3) 250° (4) 190°

x varies inversely as y. When x=3.5, then y=2.4. What is the value of y when x=5.6 ?

1) 14 2 15 (3) 21 (4) 2.8
X, y % TN ZGHATIT fo=ko Sl €1 S x=3.5%, T y=2.4 | S x=5.6 T, 9 y HT HH FT 21 2
1) 14 2 15 (3) 21 (4) 2.8

Which among the following Learning-Teaching Resources (LTRs) are most appropriate for visually
challenged students in mathematics classroom ?

(a) Geogebra (b) Taylor’s abacus (c) Computer (d) Spreadsheet
Choose the correct option :
(1) (2) and (b) (2)  (c) and (d) (3) (b)and () (4)  (b), (c) and (d)

TIford =Rt el B gitesnfua faenfe & fou frefafea siferm frero gareAt (Ta 3 o) & @ = 91 9ad
U T ?

(a) TFESET (b) T 1 FFam () HHH (d) el

(1) (a) R (b) (2)  (c) I (d) (3) (b) ¥R (o) 4) (), () FR(d)

SPACE FOR ROUGH WORK / 7% & & fag wig
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48.

49.

National Education Policy (NEP) 2020 recommends that Sports Integrated Pedagogy needs to be
used in classroom teaching. Which among the following are correct in the context of using sports
integrated pedagogy in mathematics classroom ?

(a) Teaching-learning process shall become joyful.

(b) It is not possible to use sports for teaching mathematics.
(c) It will be time consuming and hence needs to be avoided.
(

d) Apart from popular sports, there are many indigenous sports which can be used in teaching
mathematics.

Choose the correct option :
(1) (a) and () (2)  (b)and () (3) (a) and (d) (4)  (b), (c) and (d)

T foran fifa, 2020 fawfer St © fof T Thiha e sl el H TN & i STavdehd © |
T Thighd e & Geof & 7iforg st han o fou frfafed § @ o8 @1 %o 9 72

a) Toeror-sifenmy gfshan st 81 STat |

b) W H ITAN G TgH H Trvg TE 2 |

c) THH dgd §HA T 8l S Al 39 e =g |

d) s Wal o ST s Wawl WA § el ST T g | foRan S wehdl § 1

& fomed 9 -

(1) (a) (o) (2) (b)) (3) (a) ¥R (d) 4) (), () ()

(
(
(
(

The area of the curved surface of a right circular cylinder is 4400 cm? and the circumference of its
base is 110 cm. Its volume (in m?) is : (Use 'rr=27—2)

(1) 0.0284 (2) 0.0385 (3) 0.0285 (4) 0.0382
et oid I S 1 9% TS S%e 4400 cm? § 31X SHF STMUR T IR 110 cm €1 Sie &1

W(mw)%:(w:%wmaﬁmj

(1) 0.0284 (2) 0.0385 (3) 0.0285 (4)  0.0382

SPACE FOR ROUGH WORK / 7% &Td & el sirg
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50.

51.

52.

A box opened at the top is made of wood of thickness 3 cm. Its external length, breadth and height
are respectively 1.48 m, 1.16 m and 83 cm (base =length X breadth). What will be the cost of
painting its inner surface at T 150 per m? ?

(1) ¥ 838.20 2) ¥ 839.10 (3) ¥ 841.40 (4) T 84250

TR Y Gl g TH 991 3 cmn ST AHS! 1 51 S| ST 9Tl Ao, TS a1 el ShAsT: 1.48 m,
1.16 m 3R 83 cm T (SMHR = x ASE) | THh! 3Tfafer Tl W T 150 Ufd m2 & R F Y2 I
AN R BT 2

(1) ¥ 838.20 (2) ¥ 839.10 (3) T 841.40 (4) T 84250

In triangles ABC and DEF; ZB=90°, BC=8 cm, ZA=40°, DE=8 cm, ZF=40° and ZE=90°. Then,
which of the following statements is true ?

(1) AABC = ADEF, by RHS (2) AABC = AFED, by RHS

(3) AABC = ADFE, by AAS (4) AABC = AFED, by AAS

st ABC 3R DEF #; /B=90°, BC=8 cm, ZA =40°, DE=8 cm, Z/F=40° 3R ZE=90° ¥ | ad, f7=
FHUAl | ¥ BT HU G §?

(1) AABC = ADEF, RHS §RI (2) AABC = AFED, RHS g

(3) AABC = ADFE, AAS N (4) AABC = AFED, AAS g

Three consecutive integers are such that when they are taken in increasing order and multiplied
by 3, 5 and 2, respectively, they add up to 99. What is the sum of the original first and third
integers ?

1) 16 2) 18 (3) 20 (4) 24

9 SHANTA quifeh 39 YR § foh 561 3% agd ¢ A | foren Simar © 3R shHen: 3, 5 Qe 2 9 707 ik Sirel
ST &, 1 2T 99 W BT €1 STRAeR Teet qel diax qoTishi o1 41T o1 § ?

1) 16 ) 18 (3) 20 4) 24

SPACE FOR ROUGH WORK / 7% & & fag wig
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53.

54.

A middle school mathematics teacher poses the following question to her class.
“Which type of graph would you use to show the following data ?

(@) The heights of participants in an athletics meet

(b) The number of passengers boarding trains from 9:00 am to 9:00 pm at a station.”
The intention of the teacher is to -

(1) Help learners understand the difference between bar graph and line graph.

(2) Introduce the concept of pie charts.

(38) Teach line graph through contextual situations.

(4) Teach the use of histograms for data representation.

fea TRa i T i T ffaer et e o TRy fefafed 7w e 2

“frfafaa sl = ToiH & foT 319 ford TohR & 3Toi 1 ST il ?

(a) Tordl Wershe Ufqaitiar § gfasiiEr o

(b) forelt TIA T UE: 9:00 915 | FH 9:00 IS Teh YoFMiedl § S dfel A1 bt e
STATYRT HT STRIT § -

(1) TUS-3AeRE IR T@1-3TeRa & o9 % iR ol guge H franfofi +) wemar s
(2) UR-TTE Y THRON T IR

() T@I-3AcrE 1 Gy TR e e )

(4) siierel & fequ & feru safes & STanT o1 fnerr e

If a 8 - digit number 94 7 1 x 9 y 2 is divisible by 72, then which of the following statements is not
true ?

(1) x=8andy=5 (2) x=4andy=9 (B) x=9andy=5 (4) x=3 andy=1
ARG 8 - SRF F@M 947129y 2, 72 | faya &, @ 791 & § a1 Fe I & 72

(1) x=83Ry=5 (2) x=43Ry=9 (3) x=93%Ry=5 @& x=33Ry=1

SPACE FOR ROUGH WORK / 7% &Td & el sirg
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55.

56.

Mathematics is a way of thinking since :

(a) It provides an opportunity for students to engage in proofs and examining patterns.
(b)  Students reproduce formulae and symbols during problem solving.

(c) Students use appropriate strategies for solving various new problems.

Choose the correct option :

(1) (a) and (b) (2)  (b) and (c) (3) (a) and () (4)  Only (b)

T Tk Wre ol A © R -

(a) I forenferi =i wnei we gfawHi o e § = (Fe) @A & T ST U8 & ¢
(b) TEEN HHIEM % SR forneft T v o=l o1 e €

(c) Toeneft fafvm= 7€ awensti 1 amam w1 & fo Suge gfaal w1 SuEnT & € |

W& faed i 9o I

M) @FE @ OFEQ G @FEQ @) F()

The following table shows the number of different fruits kept in a carton :

T f P
yPeo Mangoes | Apples | Oranges | Guavas ome
fruits granates
Number 44 56 42 30 38

If a pie chart is constructed for the above data, what will be the angle of the sector representing
apples ?

(1) 79.2° (2) 72° (3) 96° (4) 100.8°
= wrofi ot fesa o w@ U fafir= wall o6t desti s <9 7= ¢
el & it} EC} TR | oWES | TR
TR
&I 44 56 42 30 38

IfE SIS MRS 1 Teh IS =S AT 9l 8, A 39 e i o1 1 ST it Hall ohl ST § 2
(1) 79.2° 2) 72° (3)  96° (4) 100.8°

SPACE FOR ROUGH WORK / 7% & & fag wig
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57.

58.

59.

60.

The lengths of the parallel sides of a trapezium are 11 cm and 25 cm and the distance between
them is 12 cm. Its area is equal to the area of a rectangle whose sides are in the ratio 3 : 2. What is
the perimeter (in cm) of the rectangle ?

(1) 40 (2) 50 3) 60 4) 70

et Tucia Ty T FHR 9T 11 cm 3R 25 cm € 3R 7% o9 1 g 12 cm €1 391 &% 39
3 & She & SeR ¢ Tordeh! ot 3: 2 &% I H &1 39 T=d 1 IRATT (cm H) F1 8?2

(1) 40 (2) 50 (3) 60 4) 70

If A= —-2x2+12x, B=11—-8x+3x2 C=17-4x2 and D=x2—x—3, then what is the sum of the
co-efficients of x2 and x in (A+B+C—D) ?

1) o0 2 -1 G) 1 4) 3

IE A= —222+12x, B=11-8x+322 C=17-422 3R D=22—x-3 &, @ (A+B+C—D) H 22 3R x
% T[UTIRT T AR

1 0 2 -1 G) 1 4 3

Which of the following is not a dimension of assessment of mathematics learning ?
(1) Communication

(2) Patterns and procedures

(3) Disposition towards mathematics

(4) Mathematical reasoning

frefafead & | -9 TG AR % ST 1 ST & § 2
(1) SHwT

) ufdaH (Yei) IR ufsean (FwE-fafy)

(3) TIfUrd % 9fd w3

(4) iR doh

In triangle PQR, ZP=55° and QR=18 cm. In which of the following cases, APQR can be an
obtuse scalene triangle ?

(1) 4£R=25°and PQ=18 cm (2) Z4£R=15°and PR > 18 cm

(3) Z£R=65°and PQ > 18 cm (4) Z£R=35° and PR=18 cm

39 POR #, /P =55° 3R QR=18 cm ¥ | T feufoaii & & forad APQR T tferer =i famag st
B kel & ?

(1) ZR=25° 3R PQ=18 cm (2) £R=15° 3R PR > 18 cm

(3) ZR=65° 3R PQ > 18 cm (4) ZR=35° X PR=18 cm

SPACE FOR ROUGH WORK / 7% &Td & el sirg
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Direction : Answer the following questions by selecting the correct/most appropriate options.

f[Rsr:  frEfafad e & 3w &7 & 7T WEl, qad 3ugerd faeeq T

61.

62.

63.

Read the following paragraph carefully and select the option which would correctly fill the blanks
in the given order.

Sound is produced by vibration and different musical instruments have specific vibrating parts. In
a__ X__ the sound is produced by stretched strings, ina __ Y it is the stretched membrane that
vibrates and ina __Z the vibrating part that produces sound is the air column.

X, Y and Z can respectively be :

(1) sitar, harmonium, dholak (2) dholak, ektara, mouth organ

(38) guitar, tabla, shehnai (4) ektara, violin, piano

frefafad sT=e 1 eamgds afer aen 39 faswed &1 9o Hifs sifer T2t JhR & fau 7o 9 § o
AT T 9|

& A G S0 Bt § qen fm-foe g =5 % faftre Fomm wm ek €1 X efy @i ari g
SR EA Y, Y B et TS hw et g 7 H saf oo e arel SUHE v, 9 -y
(Hier) B

X, Y 3R Z A9 & Hehd €

(1) o, swifEd, Seren (2) @IcTeh, ThANI, T@-3TH

3) TR, qeer, e (4) THAW, arEfer, frEE

Identify the set of micronutrients (nutrients required by plants in small quantities) :

(1) Potassium, Magnesium, Copper (2) Copper, Phosphorous, Calcium

(3) Sulphur, Aluminium, Chlorine (4) Zinc, Iron, Manganese

frefafed § @ wgw (W) geq Gl & TY=T (Y el | Ued gR1 ST 9IveR) St TR
hITSIT

(1)  difery, Friferm, e (2) e, WERRY, Hicaam

(3) TR, Ugfad, FaRA 4) TS (s=m), de, Hris

Read the following statements carefully and select the correct option.
Assertion (A) : The stars in the night sky appear to move from east to west.
Reason (R) : The earth rotates from west to east.

(1) (A) and (R) are both correct and (R) is the correct explanation for (A).
(2) (A) and (R) are both correct but (R) is not the correct explanation for (A).
(3)  (A) is correct but (R) is incorrect.

(4) (A) and (R) are both incorrect.

Frefafad weFl Sl egEs 9feu de1 W&t fashed o1 == sifs |

ARURIT (A) : TR 21w B AR g | ufeem =it iR 1fd e wefia & ©

T (R) : gealt ufve @ gl foen # =i st 2

1)  (A) 3R (R) S T € 9901 (R), (A) I G& AR R |

2) (A) 3R (R) I w& ¥ W (R), (A) T T = T T
() (A) ¥ T (R) 7o T

(4) (A) 3R (R) ST Tord
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64.

65.

Which of the following statements regarding rusting of iron are true ?
(a) Itinvolves a chemical reaction between iron and oxygen.

(b) It is an exothermic reaction.

(c) It can take place at room temperature.

(d) Itis reversible reaction.

M @0, @ Gad@ () @and(d) @ (), (b)and

Frfafed 9 i 9 A @ie | ST o & Hoiel § 6 © ?

(a) I8 dre (diR) 3iR stferdisH & site Tamieh SIfufhan i et el B
(b) I e HoATETd tfufeRan 7

(c) ¥ W MY (HITS—dMT) T & Hehell T |
(
(

d) I% Sohuvia At g1
1) (a), (b), (d) 2 (b) 3 (0) (3) (a) 3 (d) 4)  (a), (b) 3 (o)

Match the substances in column A with their chemical names in column B.

(A) (B)
Slaked lime i)  Calcium oxide
Table salt

o o
~— ~—

ii) Sodium bicarbonate

Limestone

@)
~

iii) Calcium carbonate

&

Quick lime

(
(
(

Caustic soda (@iv) Calcium hydroxide
(v)  Sodium hydroxide
(

—
N

Baking soda vi) Sodium chloride

,\,-\,-\,-\,-\AAAAA
)
~

1) (@)-(v), (b)-(vi), (0)-(idi), (d)-(v), ()-(1), (H)-(ii)
2)  (a)-(vi), (b)-(i), (¢)-(v), (d)-(i), (e)-(ii), (£)-(iv)
3)  (@)-(), (b)-(vi), (c)-(iid), (d)-(v), (e)-(i), (£)-(iv)
4)  (@)-(v), (b)~(v), (0)-(it), (d)-(ii), (¢)-(1), (B)-(vi)

e A B fEu e yerelf 1 hiemm B # feu U 3k e A1 6 e gHe st
(A) (B)

(a) A (i) HfcHaw RS

(b) TRl THR (i) Eifead sEHEe

(c) T TR (iii) ohfcEam HEHS

(d) wie® gGrel (iv) hfcaad TESEES

(@ fomEgsm=m  (v) fem TEgEEs

()  Sfehm |l (@) (vi) HifeTH FINES

1) (@-@v), (b)-(vi), (0)-(iid), (d)-(v), (e)-(i), (F)-(ii)

) (@-(vi), (b)~(ii), (©)-(v), (d)-(i), (e)-(iii), (£)-(iv)

(3)  (@-(@), (b)-(vi), ()-(iid), (d)-(v), (e)-(ii), (£)-(iv)

@) (@)-@v), (0)-(v), ()-(iii), (d)-(ii), (e)-(i), (F)-(vi)
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66. Identify the correct statement(s) :
(@) : A fact is an observation that has repeatedly been found to be true over the time.
(b) : A law is a theory that has repeatedly been found to be true over the time.
(1) Only (a) (2) (a) and (b) (3)  Only (b) (4) Neither (a) nor (b)
et HYH/HUA I TG HIFT
(a) : T Teh AR § FT8 THR SRR T 9 T ¥
(b) : T7om w fagia ¥ & gu=mi sRaR & am=n w0 )
(1) 9 (a) (2 (a) 3R () (3) e (b) 4)  (a) 3R (b) # R o T

67. Read the following text :
When a negatively charged rod is brought near an uncharged electroscope,
(a) the electroscope leaves move further apart
(b)  both the electroscope leaves acquire similar charge
(c) the negative charges pass on to the electroscope causing its leaves to move further apart
Of the above three statements :
(1) (a) is an observation while (b) and (c) are inferences
(2) (a) and (b) are observations and (c) is an inference
(3) (a), (b) and (c) are observations
(4) (a), (b) and (c) are inferences
frefafed o = dfey
S FHOMcHS &Y I AR B8 (W) H1 Hafi fagaestt & fawe @ S §,
(a) fToreperaeit Wil weh que & iR qx St
(b) < fogaeel ufwar Tam Ay Ifsia s
(c) HUTCHS STaNil ol fagaeefl W s&iaika fohan siar & foes aRommeeey S9! ufaal Th-ga 9 &R

R A S §
SIS T HeHl o
(1) (a) 3TTcHA T @H (b) 3R () 3TTAA ©
2) (a) 3R (b) TEEH § 3R () 3TAN ¥
(3) (a), (b) 3 () Sreweiier §
4)  (a), (b) 3R (c) 1AM &
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68.

69.

70.

71.

Which of the following gases are responsible for acid rain ?

(a) Nitrogen (b) Oxygen (c) Ozone

(d) Sulphur dioxide (e)  Nitric oxide

(1) (a) and (b) (2) (b) and (c) (3) (c) and (d) (4) (d) and (e)
Frfafead e @ T4 sl g % foag swerEt €2

(a) FTEISH (b) ARSI () S=iH

(d) HH SEHAFES (e) TEfgeh MieTES
(1) (a) R (b) 2 (b) 3 (o) (3) () &R (d) 4) (d) #R ()

Which of the following is NOT indicative of the hypothesising skill ?

(1) Formulating questions which lead to inquiry

(2) Attempting to explain observations or relationships in terms of some principle
(3) Using the senses to gather information

(4) Identifying variables for an experiment

frefafed 8 § & W1 9Reea T & HivTd o R T8 § 2

(1) TS Tk of S 9l 999 S

) T fugidl & faw 4 stereiiel Sgdn Geigi sl A T H FIE HE
(3) I THA A o o Tl 1 STANT hET

(4) el 7EmT < foaQ =_1 &t 989 e

Identify the correct statements from the following :

(a) Generally non-metals do not react with water.

(b)  Generally non-metals do not react with acids.

(1) Only (a) (2) Only (b) (3) Both (a) and (b) (4) Neither (a) nor (b)
frefafed § | W& oAl 1 989 SIfST

(a) TMIG: TG S & | STafshan el ahid |

(b) TTHTIG: 7T TRl o Wl ATIfoha &l i |

(1) 5 (a) (2) e (b) () ()OI 4) T ()T (b)

A ball is thrown up in the air. It reaches a maximum height and then returns to the thrower.

Which of the following quantities have the same values during the upward and downward motion
of the ball ?

(1)  Acceleration (2) Force of gravity (3) Displacement (4) Work done by gravity
Teh Tig o1 a1 § FIR i 31X Ukl 71| I STFHehad SaTE Toh g o AU thehe dTel o I ST 31
REL

Tig 1 IURgEt iR Tl nifd/=ma & woe et § 9 S 9 afeEl & a9@ 39 €2

(1) R (2) & A (@) foeemdm (4) % g o T
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72.

73.

74.

A body has a linear momentum of p and a mass of m. The kinetic energy of the body
is :

(1) pZm 2) 2p’m 3 2 4) pm

& i o1 as Form p a1 g9 (Fefd) m §1 oS St = § 2

(1) p’m (2) 2p’m 3 2 4) pm

Which of the following is the most suitable strategy for introducing the students to the concept of
‘chemical reactions” at upper primary level ?

(1) Explain the concept of valence electrons and electronic configuration

(2)  Write the chemical equations in symbolic form and ask students to observe

(8) Define a chemical reaction and give examples

(4) Hold a discussion on chemical reactions which students are likely to have observed in their

lives

3= grafies T R qaEiae Afufean’ ot eraumron 9 faenfai o uiRfed sm & fau f=fafea 5 9
HA ° Afd ST WA 7 2

(1) Gl Soiag 3R Soaeieh fa=aTe i STAHROT St AR HLAT
(2) THEF THEHTT Sl Fdtehicds &9 H foraan qen faenferli @i staeie & & fag we
(3) TEMEf Afafsman s AR SR qen SR <

(4) = qEEfE AfufmaeTl W aiEEt S e faenfei 3 37 sitad o Fifad §9 9 sTeeend ol
W@ e

Which of the following is a set of animals in which all show external fertilization ?

(1)  Hens, lizards, butterflies (2)  Lizards, butterflies, frogs
(3) Butterflies, frogs, fish (4)  Frogs, fish, starfish
frefafed § 9 37 Sigetl =1 9g== S a1 § S 9t s foee =6 gl § 2
(1) 7, fouskefl, faaett 2) fousme, fadel, dew

(3) feraett, Hew, Tl (4) o, T, ©RE
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75.

Consider the test item given below and match the following :
Column - A Column - B
Unit of force Joule
Symbol of iron HCl1
Formula of hydrochloric acid Ag
Unit of work —i|ij—
Symbol of silver Calorie
Symbol of battery Fe
Newton
Which of the following is not a reason that can be given to justify that the item is poorly
constructed ?
(1) For an entry in column A there are at the most two plausible entries in column B
(2) There are unequal entries in column A and B
(3) The matching pairs can be easily guessed
(4) There is inconsistency among entries
= <t T8 T it W foeR it qen fefafea @ gEa S
i - A whicTd - B
=t < 3T (HTh) S
<ite =1 fawe HCl

TSI T8 1 Ag

ST Y TS (HTAHR) —i|ij—

itel = T Ferdt
g0 1 fae Fe
A

7g 3faa fag 0 & fau for el S9-08 o & T § s9en fefatea § 9 i 91 SR A e s
Hehll & ?

(1) | A freht yfafte % fau wiem B ¥ sifersham < Ffaager wfaftest €
(2) | A MR B Y rme yfaftear €

(3) ThHerd Tu i 1 WAAd | STHM T ST Hehell ©

(4) wfaftesi § (F o= #) fagnfa g
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76.

77.

Read the following statements and select the correct option.

Assertion (A) :

Dried raisins when left in plain water for some time swell due to osmosis.
Reason (R) :

Plant cells have a selectively permeable cell membrane.

(1) (A) and (R) are both correct and (R) is the correct explanation for (A).
(2) (A) and (R) are both correct but (R) is not the correct explanation for (A).
(3)  (A) is correct but (R) is incorrect.

(4) (A) is incorrect but (R) is correct.

frfafaa wuHl w1 dfew, IR W& fased &1 == HifaT

A& (A) :

gEt g8 frufie 1 59 38 ¥ & faw ae Sa J S1e foan T dt 98 W % RO Ee S |
e (R) :

TEY RIS H SRUMHE €9 & TR Hifereht fereet Bt 2|

(1) (A) 3R (R) S &l € 941 (R), (A) T T&l AT |

2) (A) 3R (R) I @& § W (R), (A) it T =A@ T
() (A) W& ® T (R) e T |

(4) (A)7TEd € R (R) T B

Which of the following would be a most suitable strategy to introduce the topic ‘deficiency diseases’

at upper primary level ?

(1) Provide a definition of balanced diet and introduce the concept of deficiency.

(2) Arrange for a doctor’s prescription pertaining to a deficiency disease and hold a discussion

around it.
(8)  List the various nutrients and the functions they perform in human body.

(4) Hold a discussion on common human diseases.

I Wi TR W SA9Es= W' fawe w1 wga 3 ot efafed § 8 SF O 968 3uge WEfa e 2

1) GJferd STER i IRUTH UG hIAT T STHE i STEERN bl GRIA hLAT

1)
(2) SrESE I ¥ Hafya el (faferds) & Ioe S ae X 39 W qiE= wE
®)
4)

3) HAMa IRR H fafus denl iR 5 fohansti o1 o frouea o6 € 38 geies &

4) G HEG Geel T ) 9R== e
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78.

79.

80.

81.

Which of the following best explains the statement ‘science promotes scepticism’ ?
(1) Scientists judge the validity of a claim based on objective empirical evidence
(2)  Science is purely inductive in nature

(8)  Scientists do not trust the findings of other scientists

(4) Scientists are open-minded and willing to modify their ideas

frafafed § 9 =1 I T4 § ' foa™ H<gaR 1 9ee <a1 8’ T i AT Sl § ?
(1) foasafe sgafas Wedi & YR W S 19 i AU I SThd §

) o= ysfa & gg T F AR §

(3) SRITH T (3T) SR % Sra-ufomei R faverd =& & §

(4) SR S fT=R a1t B § a9 319 foeil sl ®9iaRd T o 3o ol ©

A box of mass 500 gm is lying on a horizontal table. Which of the following statements is true
regarding the force(s) acting on it ? [g=10 m/s?]

(1) No force acts on it

(2) An unbalanced force of 5 N acts on it in downward direction

(3) A pair of balanced forces acts on it

(4) An unbalanced force of 5 N acts on it in the upward direction

Sfqst (STIYRY) TSl (TIA) W IS T U feadl (i) o1 gome (Hafd) 500 99 81 36 R @ a1t
e/ 9l & Hoiy § ffafted § & aF 9 U 9@ 8?2 [g=10 m/s?]

(1) 8 R &I 9 FE T HaT §

(2) gl fown # 39 W5 N &1 /o 9 e & §

(3) wgfad acll 1 T I (FTA) 39 R HE HT ©

(4) SURHET faen & 39 W5 N &1 s1Egfad o S wdl §

X___is a device which is used to see around corners and is based on the principle of __ Y
X and Y respectively are :
(1) Telescope, reflection (2) Kaleidoscope, refraction
(38)  Periscope, reflection (4) Periscope, dispersion
_ X TR T ¢ TSRt YT AT % SETE e o fog feRen S € SR we Y % Tl W eiia 7
X SR Y e §
(1) TEHH (TAERIT), qUEA (2) gEUSH, ITUEA

(3) ufest, wed (4) et geioE

X and Y are thick, black liquids which can be used for metalling the roads. X is derived from
petroleum and Y is derived from coal. Which of the following can X and Y respectively
be ?

(1) Bitumen, Coal Tar (2) Coal Tar, Charcoal

(3) Charcoal, Bitumen (4) Coal Tar, Bitumen

X 3R Y e el 59 § FSTeh1 TN Tgahi ol ahl Hid & faq fopan st gshat ©1 - X USiferem & =eus € e
Y ®a § Fegel ©1 fAfafad § | &A1 swEen: X 3R Y 81wkt € 2

(1) fagHd, Rear (2) IGAR, ARFHEA (HTS-hIT)

(3) TRbA (FHrS-HEan), fagad (4) wieaR, fagea
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82.

83.

84.

Which of the following is not desirable with respect to carrying out of a classroom demonstration
by a teacher ?

(I) Rehearse the demonstration before carrying it out in class

(2) Emphasise beforehand the linkages that students are required to make

(3) Supplement the demonstration with explanations

(4) Follow up the demonstration with discussion

frfafed o 9 i @ fark g0 e § YeeH 1 HEitad w0 & HaU H diod T8 o 2
(1) e § FEffed w9 94 IS8 S STR=AE R

(2) HHF Y@ & A Tgadl (FaHl) R aa <1 foent fmion e faenfei & fau smawves ©
(3) USRI I A WY T (T HET)

(4) uR=El & WU GG HT AT HAT

Which of the following statement(s) is correct ?

(1)  Fertilisers are richer in specific nutrients as compared to manure
(2) Fertilisers enhance the water holding capacity of the soil

(3)  Fertilisers provide a lot of humus to the soil

(4) Fertilisers increase the number of friendly microbes in soil

frefefed § @ ®F 91/9 wo ad@ g/ 2

(1) TR S TYeT ok UIvehi o Gaie H 1ferss 9g B €

(2) S G A TAUR el H Ifig I &

(3) SRl W G I YR AN H gHE U Bl §

(1) R G e fir e 3 wen | 9t @ o E

Find the set that correctly matches the plants in column A with the mode of asexual reproduction
which they exhibit :

Column A Column B
(a) Rose (i) Budding
(b) Yeast (i) Spore formation
(c) Ferns (iii) Fragmentation
(d) Spirogyra (iv) Pollination

(v) Vegetative propagation

a)wmwo%?um ) @-Gv), B)-(), (©-(v), (d)-Gi)

©G)  (a)-(v), (b)-(iii) i), (d)-(i) (4)  (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
U =T h GlQU Sk HicTH A § UIHl 1 3Hh g1 Y stelfier W i fafyr & @iy we yR @
'ﬁel?f HIATR
HicH A HicH B
(a) T () Hpad
(b) = (THR) (i) STy A
(c) & (TuI) (i) Ged
(d) TR (iv) T

(v) SIS gaEa
(1) (@-(v), (b)-(i), (c) )(1) (d)-(ii) (2)  (@-(iv), (b)-(0), (c)-(v), (d)-(iii)

() @-(v), (b)-(iid), (c)-(ii), (d)-(3) @) (@-(iv), (b)-(iii), (c)-(), (d)-(i)
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85.

86.

87.

Which of the following plant disease(s) are caused by bacteria ?
(a) Rust of wheat (b) Citrus tanker  (c) Yellow vein mosaic of bhindi
(1) (a) and (b) (2) Only (b) (3) (b)and (c) (4) Only (o)
Frefafed 9 9 ®F 9 95y A (St /Sfiawt) Sier) gR1 8 € 2

@) TEHFH A (R HfRe) b) fogg T (c) Tueh =t dia fam fapeiix

(1) (a) 3 (b) (2) 9 (b) (3) (b) ¥ () (4) 9 (o)

The difference between maximum and minimum resistance that can be obtained by connecting

1
three resistances of 3 Q each is :

1n o 2 @ @) 10 @ 59

AR SR T RIS 35 o 1 e S T 5 3 g 1 S % 57 T 7 o
%,EFE?%:

m 30 @ 50 () 10 @ 30

A teacher, while teaching the chapter ‘Body Movements’ to class VI students shows the following
images to her students :

A sailing boat, swimming fish and a flying aeroplane. She then asks the students to reflect on the
shape of the images and the manner of movement. Which of the following are likely to be employed
by students in answering ?

(a) Classifying (b) Observing (c) Inductive reasoning (d) Measuring

(1) (a) and (b) (2)  (b) and (c) ()  (c) and (d) (4) (a) and (d)

T et oTa et VI o faenfef=i &1 ‘IRR # 1fq’ a8 9gn 9w fefatea gfdafas foad
T

ST AT AT, Tl ASel 3TR Uk 31 gaE SeTsl | a8 qqueara faenfefi o1 gfafewei =t emehfa wd fa
% YR & Yfafdfiea e & fau wedt §1 SR & fou faenfefi g = o 9 feen gafag w9 9
Tranfsa foman smem 2

(a) =Rl (b)  STFARA (c) SATTHATHe deheficral  (d) HIOA
(1) (a) 3R (b) (2) (b) ¥R (o) (3) (o) ¥R (d) 4) (a) 3R (d)
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88.

89.

90.

Seed dispersal may be said to help the plants in all of the following except :

(1) over crowding (2) avoid competition for sunlight, water and minerals
(3) invade new habitats (4) produce new varieties

FEl- Hehell § T Frefafad & @ 9t & Sist gl = 91edl sl o 95 © (T &t §) faam
(1) faEgera (2) A & THN, S T @isi & fow gfaeqsi o &

(3) U AETE H SO GRS TAM ok (4) 8 foheH 3o R h

Which of the following is the most suitable reason behind Newtons theory of gravitation being
regarded as an excellent theory ?

(1) It explains larger number of observations by making fewer assumptions
(2)

(3) It has been formulated using the precise language of mathematics

4)

I o TEATRYY % TaGIa Hl Tk S fagid e & 9 frafafed 3 & oF a1 gaifis Suge wRo
€7

(1) 78 FY RO A SSt T | Yequll ot e il ©

It has been arrived at after thorough experimentation

It has been developed over a long period of time

(2) 39 TR YUl YANT % IvE & UG T ¥
(3) = IR IO T T YT ek YA TR T
4) =8 3efuw ety H faewfaa foeen mn ©

Read the following statements carefully and select the correct option.
S1: Rayon is a synthetic fibre.

S2 : Rayon is made without using any natural raw material.

(1) Both S1 and S2 are true (2) Slis true and S2 is false
(3) Slis false and S2 is true (4) Both S1 and S2 are false
frefafed sweml wl samgas ufeu qen @t foeshey &1 == ST

S1: W U dfvere dq 2l

S2: XM o T et WThfaes e WIeT o YRINT & ST I R |

(1) S19S2 <M we (2) S19E T IR S2 7o §

(3) S17ed § AR S2 W (4) S19S2TH Tod €
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IMPORTANT / 5geaqof
Candidates have to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
Part - 1II (Social Studies / Social Science).
witenfsfat @t 9T 31 @90 AT at WTT - 11 ( T & G777 ) AT 9T - 111 ( §TETfSTeR 379/ |THTfoTeh
faFr) & #3731

PART - Il / ¥ - 1
SOCIAL STUDIES / SOCIAL SCIENCE - A& g+ / Arifore fasma

Direction : Answer the following questions by selecting the correct/imost appropriate options.
fd9r : e et & SW a7 & T G@l/qad 3ugerd faehed T
31. Read the Assertion (A) and Reason (R) carefully :

Assertion (A) :

In 1960, the bilingual state of Bombay was divided into separate states for Marathi and Gujarati
speaking people.

Reason (R) :

In 1966, the state of Punjab was also divided into two States Punjab for Punjabi speakers and
Haryana for Haryanavi or Hindi speakers.

Choose the correct option of the following :

(1) Both (A) and (R) are true and (R) explains (A)

(2) Both (A) and (R) are true but (R) does not explain (A)

(3)  (A) is true but (R) is false

(4) (A) is false but (R) is true

AFPUHYT (A) T THIUT (R) 1 &AM 9 T -

UweA (A) :

1960 ¥ fguTet =g Wid oh1 TRIST IR ot Tt <t o Tt 2 oTemT-31er Teat # sifer 7 |
ST (R) :

1966 H TSI 1 off faret <1 T2l | gt | uSre, detrelt anfidi o forg o7 efiamon, sftamret = few< e
el o fera |

foreTferfiad & & i fomped 99 -

(1) T (A) T (R) & § T (R), (A) T AT AT S|
(2) THi(A) T (R) W& € fFg (R), (A) S =& & |
(3) (A) W& T fobeg (R) Tera |

(4) (A)TTed ¢ fohg (R) T
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32.

33.

34.

Ladakh is also called Little Tibet due to :
(a) Geographical proximity (b)  Religious similarity
(c) Similar cuisines (d) Linguistic similarity

Choose the correct options :

(1) (a), (b) and (¢) (2 (b), (o) and (d)

(3) (a), (b) and (d) 4) (@), (b), (c) and (d)
% HIU T 1 Bl feed ot shed B

(a) SiFifees e (b) fHer T

(c) HHN HISH (d)  TSTE FHA

HE fashed &1 =34 Sifsu |

(1) (@), (b) 3R (o) 2 () (© ()

(3) (), (b) 3 (d) 4) (), (), () 3 (d)

Which of the following ideas was questioned by people from the seventh century
onwards ?

(1) Only human beings pass through countless cycles of births.
(2)  All human beings are equal at the time of birth.
(3)  One could break the cycle of rebirth through personal effort.

(4) Social privileges are a result of one’s birth.

Il srareal & YR 9 Frefafead § § form foar @ @i 3 ware 38 ¥E o fean?
(1) Fad 9 Sf S & ST =i 9 ToRd 2 |

(2) T = S F THT TEE B 2
®)
(4)

3) AT YAl ¥ YAS h <sh ¥ PR R S Hehdll © |

4) gmifeen fagrafuer fordt 1 51 &1 9oy ®)

The atmosphere is a thin layer of air surrounding the Earth. What keeps the air to remain around
the earth ?

(1) Gravitational force of the Earth (2) Heat of the sun

(3) Rocks and oceans on the earth  (4) Gravitational force of moon

Jeat & =R 3T Tt arg ot Idel TR hl aTgHEd Had § | 3R =S 9 I gea o AR SR 9 Tl § ?

(1)  gealt T TRyl ae 2) & T
(3) gt W T iR HEEER (4) =iE T TEAHI oA
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35. Read the Assertion (A) and Reason (R) carefully :
Assertion (A) :

It was during Shah Jahan's reign that the different elements of Mughal architecture were fused
together in a grand harmonious synthesis.

Reason (R) :

His reign witnessed a huge amount of construction activity especially in Agra and Delhi.
Choose the correct option of the following :

(1) Both (A) and (R) are true and (R) explains (A)

(2) Both (A) and (R) are true but (R) does not explain (A)

(3)  (A) is true but (R) is false

(4) (A) is false but (R) is true

FUHAT (A) T THIUT (R) Tl &AF 9 TS :

AFUFRYT (A) :

SMeSTal o IHFshTel o SR TITel argehell & fafi= ael T ¥ GETTd |verm § o T |

T (R) :

ek AEA H oTaxd i & =ed @, favm 9 § o o feeedt 9
Frafafed 9 w&@ fasme 9

ST (A) T (R) T& € 9T (R), (A) 1 AR AT € |

I (A) T (R) TE ¥ T (R), (A) Tt AT 71& hal 7 |

(A) & & foeg (R) TTeTa |

(A) e § TR (R) W |

1

2

(1)
(2)
)
(4)

4

36. Our solar family consists of following celestial bodies :
(1) Constellations, Planets, Sun
(2) Satellites, Planets, Pole star
(3) Sun, Planets, Satellites, Asteroids, Meteroites
(4) Planets, Satellites, Asteroids, Saptarishi

THN 9R 9feR fe=fafead et fiei 4 o g .

(1) FeeHed, T8, 94

(2) SUIUE, TE, Y9 a0

(B) Y, U-, SWIE, &=UE, SchIUe
(4) TE, SUUE, §EUT, GXR
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37. Read the statements (A) and (B) carefully :
(A) : In 1817, James Mill published ‘A History of British India” in three volumes.
(B) : In this he divided Indian history into three periods - Ancient, Medieval and Modern.
Choose the correct option of the following :
(1) Both (A) and (B) are true (2) Both (A) and (B) are false
(3) (A) is true but (B) is false (4) (A) is false but (B) is true
eI, (A) 9L (B) 1 &1 9 Ug :
(A) : w7 e 7 1817 # ‘€ fet 7w fafest sfean’ & 9l & gemifa foram |
(B) : U IR R 3ferd 1 7 Hrell - greiE, 9 iR enyfae ¥ wier ¥

frfafad ¥ 9 wd fakes 9
(1) < (A) T (B) T ¥ | (2) <HI (A) 9T (B) e ¥ |
() (A) T & fohg (B) T | (4) (A) 7 ® foheg (B) TR |

38. Railway network is now extensively being built in mountainous areas. Select the most suitable
reason.

(1) Itis easy to construct railways in mountains.

(2) Mountains are highly eroded.

(3) Mountain people are making railways.

(4) There are advanced technological developments to enable it.

RISl &5 H 379 Yo o faega fFmior € Wi g1 17 SUge Rl sl =9 hifee |
(1) Terel B Yemmit 1 fafor e g )

(2) YRS HRI-&EE

(3) TRTS! W YeTHE bl o W/ |

(4) T F9a wE F foIw =7a Gt &1 faehm gam T

39. Read the statements (A) and (B) carefully :
(A) : In 1770, a terrible famine killed ten million people in Bengal.
(B) : About one-third of the population was wiped out.
Choose the correct option of the following :

(1) Both (A) and (B) are true (2) Both (A) and (B) are false
(3)  (A) is true but (B) is false (4) (A) is false but (B) is true
el (A) TT (B) Sl &4F | S

(A) : 1770 H ST H Teh WA 3T o T Teh HUS RN ohl AR STell |
(B) : TH TRl H ST ohi Weh-Toerd STt Ter &1 T |

frfafaa § 4 @@ fasey =
(1) <1 (A) T (B) T& ¥ | (2) <HI (A) 9T (B) e ¥ |
() (A) T & fh=g (B) T | (4) (A) 7 ® foheg (B) TR |
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40.

41.

42.

Choose the statements that explain the Ganga-Brahmaputra Basin in Indian subcontinent.
(a)  Coniferous forests grow in this region.

(b)  The Basin lies in sub-tropical region.

(c) The area is dominated by Monsoon climate.

(d) The basin area has a varied topography.

Choose the correct option :

1) (@) (®) () (2) (), (©) (d) () (@) (®) (d) 4) @) ()

ARG ITHIGIY H T-SIeTgs Jf hi SREAT i el A I = hifeIC |

(@) TH YW H AFHR o A ¥ |

(b) =g e e § feord 1

(c) 39 &F HI oAy J&Id: WA ¢
(d) S &= H fafe= TR T Tt 2

| fasmeq =1 =99 sifw)

1) (@) (®) () 2) (), (©) (@ () (@) (®) () 4) @) ()

The book ‘Stripurushtulna’ was written by which one of the following reformer ?

(1) Pandita Ramabai (2) Veerasalingam Pantulu

(3) Tarabai Shinde (4) E.V. Ramaswamy Naicker (Periyar)
" SgEEge’ AHeH I i Tl fefarad § o e YU g &1 T8 off ?

(1) dfear e (2) el dqq

(3) e fie (4) 3.9 TEREE AR (ARER)

The earliest evidence of growing crops like wheat and barley are located in which one of the
following places ? Choose the correct option.

(1)  Garo hills (2) Malabar hills

(3) Sulaiman and Kirthar hills (4)  Nilgiri hills

g’ T S S e ST % welgem wied frefafed # @ fhw o | fael €7 wd foshed o1 g Y|
(1) TN feed (2) WEER foed

(3) gomH IR fer feed (4) AR feew
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44.

Reasons and Assertions :

Assertion (A) :

Stereotypes prevent people from doing certain things that they are good at.
Reason (R) :

Stereotypes stop us from recognizing unique qualities and skills in individuals and fit them into
one pattern.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2; Both (A) and (R) are true and (R) is not the correct explanation of (A)

(3)  (A) is true but (R) is false

(4)  (A) is false but (R) is true

Tk SR TR

TR (A) :

wigag YRUMT @R ol TH 10 S F Adhd! § o7 3 3= T

e (R) :

g@a@ YR &H Afed § 3G o1 3R hivTel bl <@ H Uehdl € 9AT 3= T & YR & @9 H 9 <t
|

W& fosed &1 =91 HfT

(1) (A) 3R (R) S T2 § T (R), (A) i T& == 2|

(2) (A) 3R (R) I T € a1 (R), (A) it HE AR T 2|

() (A) ¥& T T (R) 7o S

(4) (A) 7oA § T (R) T R

Which of following two gases make up the bulk of the Atmosphere ?

(1) Nitrogen and Hydrogen (2) Carbondioxide and Oxygen
(3) Nitrogen and Oxygen (4) Ozone and Helium
frefafed § 9 agdea o1 sifueis wF @ 9 19 €2

(1) TN AR TR (2) G SRSAEE R SdTeH
(3) TEgreH SR SRS (4) STSIE SR Eferem
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46.

47.

Read the statements (A) and (B) carefully :

(A) : The Veda Samaj was established in Madras in 1864.
(B) : It was inspired by the Arya Samaj.

Choose the correct option :

(1) Both (A) and (B) are true (2) Both (A) and (B) are false
(3) (A) is true but (B) is false (4) (A) is false but (B) is true
FHAT (A) T (B) ! &1 W TS -

(A) : ‘ST FHMS' T TATIT 1864 H HE™ H TE |
(B) : 9T THN, 3T WS § URA e

foretferfiod § @ W& fowed 9 -
(1) <F (A) @ (B) T&t €1 (2) < (A) AT (B) TTeTd ¥ |
(3) (A) U@ ¥ foh=g (B) TTed | (4) (A) TTera ® foheg (B) W

The Child Marriage Restraint Act was passed in 1929. According to this Act, what was the respective
minimum age approved for marriage, for men and women ?

(1) 20 years and 18 years (2) 18 years and 16 years
(38) 21 years and 18 years (4) 17 years and 15 years

1929 ¥ a1e faarg oy siffram o foran o1 38 sifafam 6 ST9ER qew qen digen & o ot =t
=[AqH 311 S Tohat el T8 ?

(1) 203 qor18 a4 (2) 183 quT 16 TH

(3) 2194 9ur18 I (4) 17 99 915 a9

India and Bangladesh are leading producers of jute. Choose the correct statements that support
growth of jute.

(@) It grows well in alluvial soil.

(b) It requires high temperature.

(c) It requires low temperature and low rainfall.

(d) It requires heavy rainfall and humidity.

Choose the correct options :

(1) (@), (b), (c) are correct (2) (a), (b), (d) are correct

(3)  (b), (c), (d) are correct (4) (), (c), (d) are correct

IRA AR IARY T8 (S[2) o ST IACH & | TeH i Jfg 1 a1 YSH HIA dTet HeHI 1 -
Hifory |

(a) ¥E SToilg geT | o=y €1 ¥ faepfaa g 71

(b) TH 3= AIHM T STERFHRAT B & |

() = fr= aromm iR fe ot o6t stavereRar gt ¥

(d)  TH IR Tt AR ST Y ST BNt |

et fashed 1 =37 hifaT |
1) (a), (b), (c) W& 2) (), (b), (d) TE &
3) (b), (o), (d) W& @) (a), (), (d) & &

(1)
(3)
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48. Winds blow dry leaves down the pavement. How do winds blow ?
(I) Movement of air from high pressure area to low pressure area.
(2) Movement of air from low pressure area to high pressure areas.
(3) Movement of condensed air.

(4) Movement of plants and animals.

o wgd W Rt gEt ufeel =i St €1 gad HY Fedt 7 2
(1) 3= 3« &5 9 79 e &5 1 3R g 1 i |

(2) 9 <@ &9 | =3 I & hl SR AR H |

(3) e =g i |

(4) el SR Sfra-sigat &t i |

1

4

49. Torrid Zone on Earth receives maximum heat as :
(1) itisland locked
(2) itis bounded by oceans
(3) the mid-day sun is exactly overhead

(4) rays of the sun are slanting here

Jedt T SO hicaeT & Terd 3Tfereh o1 W hid © i

(1) o8 Tees ©

) IETRER ¥ ol §

(3) IR H gF Sk o F FW a1 ¥
4) T2 gd it foRl fost ot €

50. Lines drawn on a globe are known as latitudes and longitudes. What purpose do these lines
serve ?

(1) To make designs on globe
(2) To locate places on earth
(8) To beautify the globe

(4) They are furrows on earth and indicate physical features of the earth
T TElle W I TE e 1 e SR TR w9 H S W0 g1 A W R 3T hl WAl 2
(1) TeE R fesEd oA & ford

(2) gt W TUH Rl G w e

(3) TE I G I & fod

(4) A gt W TA-1@ § qon geat it ifees fasraaneii w1 g et €

4
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51.

52.

Which one of the following is not true regarding Hindustan Socialist Republican Association (HSRA).
Choose the correct option :

(1) Bhagat Singh and his comrades founded this organisation.

(2) It was founded in 1928 at Firozeshah Kotla in Delhi.

(3) It was founded in 1928 at Amritsar in Punjab.

(4) Members of the HSRA assassinated Saunders, a police officer.

fegeam dvifere fufserer TAfITeM (T9.08.2TRT) & aR § f=fafed § 4 SF-91 we 98 T8 © 2
Tl fashed 4 ¢

1)  9Ta g iR 37k shifaerrt Wl 1 SHeh! TTaT i off |

2

1928 ¥ fooell o THRUISTIE shieetl H &R TOHT €8 |

(
(2)

(3) 1928 T UST& & STHTER H THh! TATIT 3 |

(4) TATHSART, & GeHl 7 Wied A Jfad STHER i T i off |

Read the assertion (A) and reason (R) carefully :

Assertion (A) :

The Mahalwari settlement for revenue collection was introduced by Holt Mackenzie.
Reason (R) :

The charge of collecting the revenue and paying it to the company was given to the village headman,
rather than the Zamindar.

Choose the correct option of the following :

(1) Both (A) and (R) are true and (R) explains (A)

(2) Both (A) and (R) are true but (R) does not explain (A)

(3)  (A) is true but (R) is false

(4) (A) is false but (R) is true

AFHHYT (A) T THIT (R) 1 &0 § TG

AR (A) :

[T TYAT SHTET  HETTa R SIaler&d ' ohl YE&ATd diee Hehsil o hi off |
<hIUT (R) :

ToTEs I AT BT T T8 Tga™ i FTHRY TMTe 3 F4M 1 §f T 7 fof SHier =i |
freaferfa & 9 W forsen T -

(1) T (A) T (R) T § a1 (R), (A) I AT HIA € |
(2) <F(A) W@ (R) T& E, g (R), (A) T =A@ & el |
3) (A) WE € fRg (R) Tera |

(4) (A) Toa B g (R) W& |
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53. Which of the following statements help in sustainable development with reference to present day
resource availability ?

(a) Reducing consumption of resources

(b) Increasing resource use

(c) Recycling resources

(d) Reusing things

Choose the correct options :

1) @) (9 (d) (2) (@) (b) (9) 3 (), (o) (d) 4) (@) (b) (d)

frefafaa # 9 hH-91 oA odqH 999 % UM STl o Ged & 91 Faqumuig o o Herdn
AT T ?

(a) HEEEl S @A I HEA
(b) HEEFE % ST H i
(c) HETHAl &1 YA: TR

(d) &G H G ST

et fashed 1 =997 i |

1) @, () (d) 2) (@, (b) (9 ®) (k) (), (d) 4 (@), (), (d)

54. ‘Periyapuranam’, a Tamil work informs us about whom ?

(1) Kings and queens (2)  Scholars and poets

(3) Ordinary men and women (4)  Soldiers and military generals
‘Yo, T afe Hfd B fREe 9 H SR <t § 2

(1)  Tomsdt R il % aR o ) fogmi &R wfaei % an §

(3) TR qEi iR ufeamei F AR A (4)  foawfedt iR F=-Se % IR #

55. What makes an object or substance a resource ?

(1)  Purification (2)  Utility or usability
(3) Extraction (4) Discovery of object
1 = forelt a%g STeren aered i WHIEE S © 2

(1) gfsw (2) SUATTAT STere JEsal
@) st (4) I H @S
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57.

The prairies are known as ‘Granaries of the World’. Select the conditions that help in production

of surplus wheat in this region.

(a) People do not use technology here.

(b) People are very hardworking here.

(c)  Scientific methods of cultivation are used here.
(d) There is a lack of rainfall in this region.

Choose the correct option :

(1) (a) and (b) are correct (2) (b) and (c) are correct

(3) (a) and (d) are correct (4) (c) and (d) are correct

Torlt 1 ‘fava o1 TR ot ed ¥ 1 30 Wew H orcfus T % Scared H e uRftafadl & ghe

RIS |

(a) T AR WEARTHT 1 ST el hid €

(b) Tl <N =gd uRgH & €

() T I STk fafer w1 =l & o s )
(d) THURY Y Iul HI HE T

~

| faereq =1 =99 sifew)

1) (a) 3R (b) T & 2) (b) 3R (c) T &
(3) () 3 (d) WE € (4)  (c) AR (d) Wl €

The true representative model of our Earth is :

(1) Map (2) Satellite image (3) Rugby ball

BRI gedt o1 arfae fFeus gfaed ©

(1) TwEfee ) SWERITE e (3) T
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59.

Read the assertion (A) and reason (R) carefully :

Assertion (A) :

Tribes have rich and unique cultural traditions including their own language and music etc.
Reason (R) :

Land, forests, grasslands and water are regarded as the wealth of the entire tribe and everybody
shares and uses these together.

Choose the correct option of the following :

(1) Both (A) and (R) are true and (R) explains (A)

(2) Both (A) and (R) are true but (R) does not explains (A)
(3)  (A) is true but (R) is false

(4) (A) is false but (R) is true
ATUFRYT (A) TUT HIOT (R) Tl &1 § 9¢

AURIT (A) :

STt ot GG oeh-TRId Tored SHent AT e G oft Snfhe € 9gd 995 qen fafere 2t €1
T (R) :

;ﬂ:f, ST, =T o e q1 U QR el bt FEf H S © 1 TSeRt ST gt uen we fetseret
|

forfetfiaa & & W foere 9 -

(1) <FI(A) T (R) §&T € 91 (R), (A) T STEA HIA T

(2) THi(A) T (R) W&l € fFg (R), (A) T e T2 wa |

(B) (A) T&I & fR (R) T |

4) (A) T ¢ fRg (R) W

The diseases that spread from one person to another through water, food, air etc. are called as :

(1) Genetic diseases (2) Communicable diseases

(3) Acquired diseases (4) Congenital diseases

J Sl St Uk e 9 e Al Sl - W, o, 91 st | e € 9
(1)  STafemes st sed 1 (2) HEReig st FEd E

(3) SIfSid sinfar wed €| (4) ST SEIRET hed |
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61.

Read the assertion (A) and reason (R) carefully :

Assertion (A) :

Dadabhai Naoroji, one of the great leader of Indian National Congress, never become the President
of INC.

Reason (R) :

He was a businessman and publicist settled in London and for sometime a member of the British
Parliament.

Choose the correct option of the following :

(1) Both (A) and (R) are true and (R) explains (A)

(2) Both (A) and (R) are true but (R) does not explain (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

AR (A) T HROT (R) I &1 § I¢

FUwe (A) :

TS ASH, S o YR TS i & o A &, Fi oft IR UL Hild & 31eqey T o |
IUT (R) :

g AR 3R AR 91 d ded H wd 9 3R F9 w9 % fou fafon dug & gem= oft

frfaftea § 9 & fased T4 -

(1) < (A) @ (R) T&I € T (R), (A) T A HIA T

(2) THi(A) T (R) T& € fFg (R), (A) T =A@ T |
(3) (A) H& & fohg (R) TTerd |

(4) (A) TTer & foreg (R) W

Assertion (A) :

Teaching of social studies is important at the elementary stage.

Reason (R) :

It sensitises the child to social issues and develops in him/her a respect for difference and diversity.
Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) explains (A)

(2) Both (A) and (R) are true but (R) does not explain (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

AMUHYT (A)

R TR R AR fome o feror wewergo 71

T (R) :

IE o=l | WISk AHeA! o Fid Horgreiiet Al § e 384 f=a1 wel ferferern & fog gem fersmfaa s
2l

frfafad 5 9 9&r fased 1 999 ST

1) (A) 3R (R) S T € 991 (R), (A) FT SHRAT BT 2 |

2) (A) 3R (R) I W& T T (R), (A) T AT TEl HIA T |
(3) (A) HE ® T (R) T T

(4) (A)TTEd ® T (R) T T
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63.

Reasons and Assertions :

Assertion (A) :

Many cases of farmer’s suicides have been reported from villages in India.
Reason (R) :

Failure of Monsoons and inability to repay loans leads to distress among farmers.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Tk 3R SR

AFRAT (A)

YR < el ¥ fREmi & 2 SAcHen o "M e few e €

Th (R) :

T T 3197 3R st (F0T) b1 UM i Temal forami | 5@l s RO ot |
|E faomeq =1 =99 sifsq)

(1) (A) 3R (R) < TE € 701 (R), (A) T T = 7

2) (A) 3R (R) I T& € WA (R), (A) FT T& =0 T 7

(3) (A) 5 & T (R) Terd ¥

(4) (A) 7o ® 9% (R) 9 T

Identify the immediate measures which ensure women’s safety and enable them to take up jobs,
support family income and in becoming self-reliant.

(a) Provision of child-care centres

(b) Reservation of seats for women in parliament

(c) Provision of occupational safety

(d) Pick and drop facility for night shifts

Choose the correct option :

(1) (a) (b) and () (2) (@) (¢) and (d)

(3) (a) (b)and (d) 4) (@) (b), (c) and (d)
3 Tcehifcieh U i T&AM hifsTT Sl Afgetel Sl TRET TN 3¢ Ahd i, TIRATRE A § AEH HH
e AR s § giafvea w7

(a) eIl 1YY

(b) HES H wfgansti o fog Hiel &1 sTeam

(c) HAHIS GL&T hl YEHM

(d) @& el (Ree) & fae am- S & giaen

TE TIheT o1 =TI I |
1) (a), (b) 3R (c) ) (@) () R (d)
(3) (a), (b) R (d) 4)  (a), (b), (c) 3R (d)
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65.

Which of the following statements are true about inquiry approach ?
(a) Itencourages problem solving skills.

(b) It helps find ways to gather and evaluate evidence.

(c) Teacher decides the pace of learning.

(d) Itis a quick way of learning.

Choose the most appropriate option :

(1) (a) and () (2)  (b)(c)and (d) (3) (a) (c)and(d) (4)
frfafed § @ FF- FHo TR SUm & den H w1l 7 2

(a) % THEA I GoTg™ i &Faasii ol Wedied il ¢ |

(b) IT T1eF ThH{Ad o YeAichd A o qRI 1 TqT T H TS Ll § |
(c) fTafaerr siferm =6t 7ifa 1 @9 LA 2

(d) I% U et H HEH H1 qH

|aH 3fea fasey &1 =9 Sifse |

(@) and (b)

(a) 3R (b)

Identify a skill-based objective of teaching social sciences from the following options.

(1) To understand the cultures of people living in different societies
(2) To develop an ability to draw a map
(38) To develop a respect for difference and diversity

(4) To acquire knowledge of continents

=1 1 4, gt foRM g % vl Ui 35evd i 9g=H i |
(1) fafa= gursil § @A o1t AT okl HERR(qal ohl FHSE

(2) RN I i a1 foaehfad &
(3) M IR fafaum & fag smex fowfaa s

(4) TIRIGHTI T FH T AT
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66. Consider the following Assertion (A) and Reason (R) and choose the correct option :
Assertion (A) :

The disciplines that make up the social science are history, geography, political science and
€conomics.

Reason (R) :

There is interrelationship between the disciplines.

(1) Both (A) and (R) are true and (R) explains (A)

(2) Both (A) and (R) are true but (R) does not explains (A)

(3)  (A) is true but (R) is false

(4) (A) is false but (R) is true

=1 2R (A) 921 /IOT (R) T faar &Y aon W&t fohed 1 =197 FifT :
AR (A) :

foren faer s wrfStes fomm &1 s € 9 € sfoem, i, Teiifaes fomm qen srefeme |
0T (R) :

37 foren foriei  siq:day €|

(1) (A) 3R (R) S G&l € T (R), (A) Tl SATEAT HA B |

(2) (A) 3R (R) S TE § T (R), (A) T TS & HAT T |
3) A)a%‘r%w (R) Terd 1

(4) (A) 7o § T (R) T 2

67. While evaluating social science the following questions will help to understand its
objectives :

(a)  What skills are emphasised in the syllabus ?

(b) Isit derived from a standard text or combination of texts ?

(c) How detailed is the outline of syllabus ?

(d) What level of competence is demanded of learner on each social science skill ?
Choose the correct option :

(1)  (a) and (b) (2)  (a) and (d) () (a), (b)and () (4) (a), (b)and (d)

~

qrTfSTeR for o Jediehd o ae fefafad 99 s9et 3899 9e § Heg il :
(a) TISTRA H foRA wiwre W o feam wen ¥ 2

(b) o I TG T T WeUgET O forn T § A e uIeayEhl 9 ?

(c) UTISIhH i THE@ fhat faeqd €2

(d) AfrTaeRdl | AT oM % Yo Hive B e T R e Tufe € 2
HEl fasheq &1 =94 Sifsu |

(1) (a) R (b) 2)  (a) 3R (d) B) (@), (b)IR() @) (a), (b) AR (d)
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68.

69.

70.

The Indian judiciary upholds the rule of law, without any fear or external influence, and maintains
effective control over the actions of the government because of :

(1) Supremacy of judiciary in India

(2) Independence of judiciary in India

(3) Judicial activism

(4) Democratic values enshrined in Indian Constitution

IR =ATAaTerehl o1 fohelt 91 S7ere el Salel o ST ol IMEF i 8T G ¢ q¢1 TEhR o FHEl |
Jet T ST T § et aee ©

(1) ¥RA H =AU i e

(2) RA H AFUIART i Tasd
(3) AR Hishaerg
(4) YR Gfaum ¥ gfaseifud dendite o

Which of the following is not a characteristic of continuous comprehensive evaluation ?

(1) It makes evaluation an integral part of the teaching-learning process.

(2) It focuses on all-round development of the child’s personality.

(3) Itincludes an assessment of scholastic as well as co-scholastic aspects of the students growth.
(4) It focuses on marks based evaluation of student’s work.

frefafed § § -9 9ad IR 9w qedic i favrar & © ?

(1) =8 geaich o freror-eiferm wferan o1 1fy= & sman 2

) I faenet % safaae % wafior fawm = i 2

(3) e fomnedt & feren fora & w1 Te-3iferw Tecel w1 ot 3MheH HT T
(4) = famnel & oiw snenfa S Hewie W SHfd 7

Many workshops and factories located in industrial areas employ casual workers because :
(@) They can hire and fire them according to their convenience.

(b) They save on salaries and other job benefits which are paid to the permanent workers.
(c) Casual workers work long hours without demanding overtime wages.

(d) Casual workers are more hard working as compared to permanent ones.

Choose the correct option :

(1) (a) (b) and () (2)  (b), (c) and (d)

(3) (a) (b)and (d) (4) (@), (b), (c) and (d)

SrenfTer &1 H feerg e SR qen el | STt AfHehl <l Ta1 il §, i

(a) o R I GRAATIR @ 3R Feprer Tahd ¥ |

(b) O TR i 1 e et Aad den o AR Haiet fed @l W a=d R €

(c) TR At o THAaR o= 1 6 fFT o T9F qF 1 B | |

(d) TR A T o | eTeerh St sifusk aftgHt 2 €

| fasmeq =1 =99 sifew)

1) (@) () () () (®) (@ R )

3) @) () () () @ (b) (© TR

(1)
()
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71.

72.

Fill in the blank with correct option.

An alert and vigilant public is necessary for developing a strong

(1) Monarchy (2) Democracy

(3) Oligarchy (4) Autocracy

Tt Tor =1 w@ forehed @ o

TH TG o1 famm® 1 & fau a2 TS ST A6%TF B

(1) TS (2) R

(3) T (4) ThaA

In Indian secularism, the state maintains a “Principled distance” with respect to religion. This

means that :

(a) State could interfere in religious matters on the basis of ideals laid out in the Constitution.
(b) State and religion can interfere in each other’s matters.

(c) State and religion cannot transgress each other’s boundaries.

(d) State can regulate religious affairs when need arises.

Choose the correct option :

(1) (a) and (b) (2)  (b) and (d) (3) (a) and (d) (4) () and (d)
IRAT eHfRaer #, T, o & e # ww  Sgifae gl o e 7 1 gwen a1 §
(a) Tfaem ¥ fou U sTewl % YR W T oifHie Amel o e SR Hehdl § |

(b) T IR o T O F AT H SEIET HY Tohd € |

() T 3R o wh g i HHIRH 1 IecieH el H TR & |

(d) eTERFRd TS W T HifHer THel i FER[ w9 §

& ey 1 =9 HIT
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73.

74.

Assertion and Reason :
Assertion (A) :

Open-book exams shift the focus away from rote learning to a more involved engagement with the
textbook.

Reason (R) :

Open-book exams reduce the burden of students as they don’t need to prepare for the exam
beforehand.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(3) Only (A) is true

(4) Only (R) is true

Afuere 3R R

Afwe (A) :

el J&Ih T W FiE- 9 gL fohama & |1 Hae Tfid s W hf=d Bl § |

<hIUT (R) :

et qeaes gle faenfofi o1 uR & it 8 Fifer SO 3¢ I ot A Tee ¥ el he g |
T forshe &1 = FifS |

(1) THi(A) T (R) T& € 991 (R) T ST T € (A) Fl |

(2) <FI(A) T (R) T& ¥ G (R), (A) Y & AR Tel Bl |
(3) HIA (A) T Tl

(4) Fad (R) T ¥

Following are some questions/comments that you have received from your students in a class.
Which question reflects the student’s ability to critically look at the issue of poverty and
inequality ?

(1) Why is it that luxury cars and beggars can both be seen at traffic signals ?

(2)  Why can’t poor people work harder to improve their lives ?
(3)  When will India become developed and get rid of poverty ?
(4)

4) Why does government give free goods to the poor ? Won't it make them

lazy ?
frefafaa gor/fewmforl sam e1oet ws when o foenfelai & ura ot €1 79 | HiF-w g forneff & e
F STEAMA & T2 TR ST gfee ol Tfafsfed i & ?

(1) T i g for faamm &R iR et <1 %1 79 $fhs foa W@ 1d €2
(2) RIS AN ST S fearfa gama & for iR sifues feea o Rl R ?
(3) 9RA el fokfad BT SR T | o & 2

(4) ETHR TRIE! S HH FHE F ol ¢ 2 T I8 S SAAH! Tl oA < 2
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75.

76.

77.

Which of the following statements is irrelevant representation of diagnostic evaluation ?
(1) They are used for comparing the learning achievements of all the students in class.
(2) They are conducted during the instructional process.

(3)  They help to identify learning difficulties.

(4) They are usually followed by remedial classes.

frafafad § 9 -9 HeH <6 Jedichd 1 ST f==01 2

(1) ST ITAN el & Feft fornfeldi R diel Suaifeersi &t gor e § fohan S €1
(2) THH Gerad e gfshan o SR foRan S §
3)
(4)

3) I8 HEH H A ol NIl & g § "o I §
4) I Y SYER] el & &g fohan S €

At which stage of school education as per NCF 2005, are social science topics independently
introduced to students in textbooks ?

Choose the correct option of the following.

(1) Primary Stage (2) Upper Primary Stage

(8) Secondary Stage (4) Higher Secondary Stage

TAL.HLTE. 2005 % STIER, Thal 3187 & ford W T ritsieh fag™ & foe@i &0l @as €9 9 qedgsden §
forenfefaii & aftera seren wman § 2

Frefafed § 9 W& fased 1 =9 HIfT :
(1) WIS &1 (2) = W1ufHeE TR
(3) HrEAfE wR (4) 5= HrEAfE w1

Which of the following is true about sources ?

(a) They are more concrete in nature

(b) They are all historical in nature

(c) They are objective

(d) They include accounts of eye witness and personal letters
Choose the correct option :

(1) @and(@ (2 @and(® () (@), Gand(© @) () () and (d)
71 5 € =9 w1 #idl % o H |/ g ?

(a) 9 e 3 Yhfa & B &

(b) & Tt Uferfas ypfa & 8§

() & g B €

() o yoecliEl % SR iR Sfaa w o wnfre €

& fasmeq =1 =99 sifsq)

1) (a) R (d) (2) (a) &R (b) B) @, (b)) @) () () IR (d)
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78.

79.

Which of the following classroom activities will help students critically look at the role of media in
society ?

(a) Asking students to have a classroom discussion on the topic ‘can the govt. prevent certain
news from being aired on T.V ? Why might it do so ¥

(b)  Asking students to bring clippings from different newspapers on the same issue and make
comparisons regarding how they have reported it.

(c) Asking students to collect news items they have received in whatsapp groups or through
social media platforms and using them as pedagogic resources.

Choose the correct option :

(1)  (a) and (b) (2) (a) and () (3) (b) and (c) 4) (), (b) and ()

frefafed § 9 SF-9 e fafafy faenfe § wam § difea it fien & se=res g 9 <8 §

HEG T ?

(a) ‘R TR foRelt T ol el W = | Uk ol © 7 98 TE1 | bl 27 oo T ST 51 el
H == e |

(b) Todl T I R B h1 AT STEARI o Al I 33T HIAT SR STk feR0T i g A
1 el |

() BTE ¥ =eHTY IR 3= Ferer Hifed W T ekl hl Tha HIEMHT T STHT V(01 THEH & €9
H SEHTA HET |

Td faswc &1 = HI

For teaching which of the following topics, a tree chart would be best suited ?
(1) To give summary of reign of a ruler

(2) Toillustrate the hierarchy of historical events in a particular era, such as wars, revolutions or
social movements

(38) To teach modern history

(4) Distribution of demographic variables such as age, gender, race etc
frafafea # @ fra fawa & e & fag d-=r e1fa suga wm?
(1) ¥ & IMEFRE H G <7 & fag

2) T TR wa # e wTeiel, S9 GG, hifaal steren QSR STicieH! % UaTshH i afe
femm & fau

(3) enyfieh sfder™ TeH o forg
(4) 3TY, SIeY, T TG S SHiesht =’ o foaer & fag
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80.

81.

Which of the following resources/strategies can make a social science classroom
inclusive ?

1) Display of stories and photos of people from various communities and regions.

3) Avoiding examples from immediate environment.

(
(
(
(

)

2) Teaching only dominant views of society.
)
)

4) Encouraging only answers from textbooks.
frafafed § 9§ SF-w oA T g fa9m 6 e o qEae a9 gehd © 2
(1) fafa= guem o) & % anll 6t FeifEr SR el ST Yei w |

(2) had FES & Y@ fa=ari & faam

(3) STHUH % 30N § oo |

(4) IS TSIIRIRI ¥ IW <7 6 ford TR & |

It is possible that there might be students belonging to marginalised sections in your class. So,
when you are talking about the notion of marginalisation, which of the following things should
you keep in mind before introducing the topic ?

(a) Taking names of particular communities might cause discomfort to those belonging to those
communities.

(b)  Such issues need to be handled with sensitivity.

(c) Some students might feel shame in talking about their experiences of discrimination.
(d) Students should be forced to share their experiences.

Choose the most appropriate option :

(1) @and() (2 @and(© () () G)and(©) @) (a), (b)and (d)

TH 99 ¢ TR 3Tt et H SIRATE WHe™ o © off 9, SHfaL 56 3779 STl TR hell § o1 o © ol
@ fowa g&qd hxd g stvenl fefafaa § 9 fora =il st s v =nfee ?

(a) T TYSME! T TH o T ST TSI T 3T AT 3198 Hegd HX qohd ¢ |
(b) 39 W % HaI ol HagAeiierdl | I =1feq |

() TS BH U T U ISHE I WA HLA H A TegH L bl ¢ |

(d) fo=nfoi @ SR 3194 STIve |igh HA1 A

e SuFer forehed 9 :

(1) (a) 91 (b) (2)  (2) 94 (c) G) @ d)T () @) (a) (b)TA(d)
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82.

83.

84.

Which of the following is/are features of a project work ?

(@) They provide opportunity to the students to go beyond the textbook.

(b) A project work should ideally be done at home so that there is more time for teaching in
class.

(c) A group project helps develop collaborative skills in students.

Choose the most appropriate answer :

(1) Only (a) 2 @and(®) () @and(© (4 (b)and (0

Freferfed § 9 SH-a1/9 9REer & &t fafmed)/ fafireand g/ 2

(a) =8 Tormnfof=l 1 Treaqeds & ST S 1 Hight <t B

(b) URAS E TR W & R A6 difeh wa | freror o fore eifue ww fia 9o |

(c) mfesw g wE faenfel § aedrmme s & fowm § 788 &

e Suga faeed I
(1) e (a) 2) (a) 3R (b) 3) (a) &R (o) 4) (b) ¥R (o)

What is the advantage of field work as a method of social science ?
(1) Provides students first hand knowledge

(2) Develops skills of presenting, proposing and arguing

(3) Helps to memorize facts

(4) Helps in testing knowledge of the students

TSR foM <l U5fd & T9 H &3 1d (Hies dh) & T oA § ?

(1) BTl TI& I ISH FL S |

(2) &I AT, TEE HEAT 3R Teh B F DRI [Thid i ¥
(3) Tl Tl AR W H HIE HAT T

(4) forenfefi < I TdeT § AEg LT §

Why do elections take place after a fixed time interval in democracy ?
(a) To ensure accountability of the government

(b) To ensure equal political participation by the parties

(c) To encourage political debate and public dialogue

(d) Itis a customary practice

Choose the correct options :

(1) (a), (b) and () (2) () (0 and (d)
(3) (@) (b)and (d) (4) (@), () (© and (d)
R s § Wb e a9 a6 99 € g = e © 2

(a) TR T IAGEIIE GHEd wH & fag

(b) Tl I AN TsHiTaeh YRR A= e & fag

(c) TSHIfaeh aR-foemg qen S Harg &l Wicaned i o fag

(d) TS T FANTd Uik ©

WE T AT T HIFIC ¢
(1) (a), (b) 3 (c) (2) (b), () R (d)
(3)  (a), (b) 3 (d) @)  (a), (), () ¥R (d)

P-IT ([ RRTRT A nm 57 M



85.

86.

87.

Which is the best method to teach the concept of ‘Insolation” ?

(1) Case study (2) Brain-storming (3) Demonstration (4) Survey
‘STAU’ hl STIRON UG 1 oIl 37531 Ikl i 91§ 2
(1) H9 =l 2) faaR-gum (@) uRF (4) wSe

The statement, ‘The Indian Constitution provides safeguards to religious and linguistic minorities
as part of Fundamental Rights” infers that :

(a) it protects minorities against possible cultural domination by the majority.
(b) it protects minorities from any discrimination by the majority.

(c) it safeguards minority interests.

(d) it guarantees economic opportunities to minorities.

Choose the correct option :

(1) (a), (b) and () (2)  (b), (c) and (d)

(3) (@) (b) and (d) 4) (@), (b), (c) and (d)

FeH,  URATT HigeE enfier SR 9T STeuwEAshl i TR T WaHH Hifern SRl | il &, I8
ST e & o

(a) I IEEAR GRI G Tithideh T & TUE STeTHEIH! hl GRET Hl T |
(b) I8 SEHE g fohell TE & USWE 9 SFACTHEI! ohi Y&l Hdl B |

(c) UE ATUHEIh! o fedi i YRaT T |

(d) T8 TCUHEIHI hl AfH ST T MR T Hl S

HE fasheq &1 =994 Sifsu |

(1) (@), (b) ¥R (o) ) ®)© R

(3) @ () R () () @ (®)(© TR ()

Which of the following is most appropriate for reducing curricular load of Social Science
syllabus ?

(a) Minimising the emphasis on memorizing facts and focus on comprehension.

(b)  Focusing on conceptual clarity.

(c) Skipping certain topics from the textbook based on exam directives and teacher’s lacks of
familiarity with the theme.

Choose the correct option :

(1) (a), (b) and (c) (2) Only (a) and (b)

(3) Only (b) and (c) (4) Only (a) and (c)

AT TR qISTshH & AR &1 ®H i & foe f=fatad § 9 #1 999 399 © 2

(a) T % RO W =AdH oA S qU GHFA T hfEd FEA

(b) THTATST & TIHIU I hid HEAT

(c) TRIeT FE % SMUR W IR fnerer & fawereeg ¥ ST & HRO1 IS & 9 fawl #1 8l
Gl

HeE fasheq &1 =534 Sifsu |

(M (), () () () FA (a) SR (b)

(3) A (b) W (o) (4)  FA (a) IR (o)
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88.

89.

Two Fundamental Rights which the marginalized groups can invoke, to insist that they be treated
with dignity and as equals, are :

(a) Right to Equality

(b) Cultural and Educational Rights

(c) Right against Exploitation

(d) Right to Liberty

Choose the correct answers :

(1) (a) and (b) (2)  (b)and () (3) () and (d) (4)  (a) and (d)
3 Hifer 2ifueR et B W BRI 998 96 < Hhd €, e 33 Wy off T @i e
Zer fohan S, o g

(a) HHMAT 1 3TfehR

(b) WiEpfaw IR ek AfER

(c) IO & faeg AfURR

(d) EEIGST T ATIRR

TE IR H AT R

1) @FWE) @ O @ O @) @MW

Consider the following assessment questions (A) and (B) related to the working of the state
government.

(A) : What is the purpose of a press conference ? How is it different from a Legislative Assembly
debate ?

(B) : What is the term used to refer to elected representatives who are not members of the ruling
party and who play the role of questioning govt. decisions ?

Choose the correct option :

(1) (A) tests conceptual knowledge whereas (B) tests factual knowledge.
(2)  (A) tests factual knowledge whereas (B) tests conceptual knowledge.
(3) Both (A) and (B) test conceptual knowledge.

(4) Both (A) and (B) test factual knowledge.

T WA 1 HEAYoTel ¥ Hatya fH=fafad serer a941 (A) T (B) W fo=m |
(A) : FTETAl T T 3T BT & 2 A Taumm § 9 arelt 9w 9 fhy ae o1 § 2

(B) : = Taifaa wfafaferat o fau forg wsg 61 72 Bra1 € S 9= <t 3 TS& 7 21 a1 SRR o HEat
TR ool 31 & 2

| fasmeq =1 =99 ifew)

(1) (A) HheUATcHe M i 5= AT § Wik (B) TAHE I i |
(2) (A) TAEE T DI S FATN § S (B) Gohou cHs A i |
(3) T (A) T (B) HehoU-TcHS: T i g L T |

(4) THT (A) T (B) TLAHE T i Wi T A ¢ |

P-IT ([ RRTRT A nm 59 M



90. The distinctiveness of Adivasi societies is attributed to :

(a) prevalence of caste system

(b) practice of a range of tribal religions distinct from other prevalent religions

(c) distinct language use

(d) presence of little hierarchy

Choose the correct option :

(1)  (a), (b) and (c) (2)  (b), (c) and (d)
(3) (a), (b) and (d) 4) (a), (b), (c) and (d)
nfeare THTST i fofmedr s 89 S @

(a) fd SHeE & oe ohl

(b) TE TEfca gl 9 f9=, 3T YRR & S 64l o e <l

(c) fafdre wmn < g

(d) Z=-r= H wE Iurefa #

WE 3T HT FFT FISC
1) (a), (b) 3R (c) 2) (), () ¥R (d)
(3) (a), (b) R (d) 4)  (a), (b), (c) 3R (d)
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PART - IV
LANGUAGE -1 : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-IV (Q. No. 91-120), if they have opted

for ENGLISH as LANGUAGE-I only.

Read the given passage and answer the questions that follow. (91-99)

1.

91.

92.

93.

94.

95.

We were walking across the garden when my daughter spotted a cluster of familiar red flowers.
She pulled me to one side and then, looking excitedly at me as though she had a secret to share, she
pulled me down to her height and whispered in my ears. I shot up straight almost as soon as she
had finished her sentence. With my mouth ajar, I was about to tell her that it was probably not a
good idea to do so when I was transported to the time when I was around her age.

It had been a rather long day from school and I was dead tired. I was walking along the pathway
that was lined with many ixora plants when my friend grabbed me by the arm. Before I could do
anything, he gleefully plucked a single flower from the cluster and showed it to me. Unimpressed,
I was not about to be swayed by a puny flower and was about to admonish him when he turned
the flower upside down to show me a tiny almost invisible thread-like thing that protruded out
from its stalk.

He pulled the faint yellowish thread and right at the end of it, a tiny drop of nectar appeared. At
least, that was what I think it was, as it was really quite sweet. That day we raided the ixora
plants. We really had a lot of fun. I could still taste the sweetness till today. My daughter’s urgent
tug brought me back to reality. I turned to my daughter and decided that she too needed to know
the joy of tasting sweet nectar from beautiful blooms.

Identify the parts of speech of the underlined words.

I was transported to the time when I was around her age.

(1) noun, verb (2) adjective, preposition
(3) noun, preposition (4) noun, adverb

From the given anecdote, one can assume that the 2 characters shared the relationship of :
(1) Dest friends (2) mother and daughter
(3) school-mates (4) grandmother and grand-child

“to be transported in time’ means .
(1) travel backwards (2) toindulge in time travel
(38)  recollect memories of the past (4) to take future decisions

‘I was about to admonish him ....".

The underlined word can be replaced by the word -
(1) appreciate (2) reprimand (3) refuse (4) cajole

Complete the word analogy :
cluster : bunch : : puny : ?
(1) delicate (2) colourful (3)  prickly (4) long-stalked
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96. In para 1, according to the mother it was not a good idea to :
(1) taste sweet nectar from flowers

(2) raid the ixora plants

(3) walk in the garden the whole day long

(4) walk along the pathway alone

97. ‘To be dead tired” does not mean -
(1) to feel too tired to walk (2) to be exhausted
(3) to be completely exhausted (4) to feel refreshed

98. Read the following sentences :
Assertion (A) :
The child was excited to share a secret with her mother.
Reason (R) :
The mother was in disbelief and went down memory lane.
(1)  (A) is correct, but (R) is incorrect
(2) Both (A) and (R) are correct
(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(4) Both (A) and (R) are true and (R) is the correct explanation of (A)

99. Read the following sentences :

a) The writer is traumatised by the memories of her childhood.

b) The daughter’s secret brings back nostalgic memories of the school days.
)

(a) and (c) are correct, (b) is incorrect
(b) and (c) are incorrect, (a) is correct
(a) and (b) are correct, (c) is incorrect
(b) and (c) are correct, (a) is incorrect

Read the given extract and answer the questions that follow. (100-105)
My tea is nearly ready and the sun has left the sky;

Its time to take the window to see Leerie going by;

For every night at tea time and before you take your seat,

With lantern and with ladder he comes posting up the street.

Now Tom would be a driver and Maria may go to the sea;
And my papa’s a banker and as rich as he can be;

But I, when I'm stronger and choose what I'm to do,

O Leerie, I'll go around at night and light the lamps with you

For we are very lucky, with a lamp before the door;
And Leerie stops to light it as he lights so many more;
And O ! Before you hurry by with ladder and with light,
O Leerie, see a little child and nod to him tonight !

100. Why does the poet consider himself to be fortunate ?
(1) He has a rich banker father.
2)  He doesn’t have to light other peoples” doors.
3) He has light at night by his door.
4) He is strong and doesn’t have to make a choice in life.

o~~~
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101. The phrase, ‘the sun has left the sky’ indicates that -
(1) itis morning (2) itisforenoon  (3) itis afternoon (4) itis evening time

102. Read the following sentences :

(@) The poet occasionally has a light outside his door.

(b) The poet wants to be a banker like his father when he grows up.
(c) The poet is fascinated by the lamp lighter’s profession.

(1) (a) and (c) are correct, (b) is incorrect

(2) (b) and (c) are correct, (a) is incorrect

(3) (a) and (b) are incorrect, (c) is correct

(4) (a) and (b) are correct, (c) is incorrect

103. With reference to the poem, complete the word analogy :
Leerie : lamplighter : : father: ?
(1) rich businessman (2) driver
(3) sailor (4) banker

104. Identify the rhyme scheme in lines 5 - 8.
(1) abba (2) aabb (3) abab (4) aaba

105. The poet looks at the lamp-lighter’s profession with -
(1) wonder (2) jealousy (8) curiosity (4) confusion

106. Malayalam spoken by a particular community in Kozhikodi is slightly different from the Malayalam
spoken by others in the same place. What is the Malayalam spoken by the particular community
known as ?

(1) Two varieties of Malayalam (2) Regional dialect of Malayalam
(8) Social dialect of Malayalam (4) They are two different languages

107. Following learning task was given to learners in different groups. Find out what is this vocabulary
learning activity known as.

Find words and phrases which relate to the following words.

Relationship

(1) Thematic Vocabulary (2) Word clusters
(3) Cluster Vocabulary (4) Word Web

108. The language we use for day-to-day, face-to-face interaction is known as :
(1) Cognitive Academic Language Proficiency (CALP)

(2) Basic Interpersonal Communication Skills (BICS)
(3) Communicative language skills
(4) Interpersonal language proficiency
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109. A teacher at the secondary stage gives a text/short story and asks them to read and discuss the
meaning and ideas of the text from the point of view of power and justice. What does the teacher
attempt to develop in the learners ?

(1)  Critical literacy skills (2) Critical pedagogy
(8) Critical language development (4) Higher order language skills

110. Procedural knowledge in the teaching-learning grammar is

(1) knowing how to do the grammatical item.

(2) knowledge about the grammatical item.
(3) knowing the rules of the grammatical item.
(4) knowing the language and its culture.

111. A teacher of Class VII conducts a pair work activity in which the pairs are given a story of ten
sentences. One in the pair reads out the first sentences and the other in the pair writes that
sentence. Then other in the pair read out second sentence and the first in the pair writes the
second sentence. Likewise the pairs complete the whole story. Later they compare their writing
with the original text given to them. What is this activity known as ?

(1) Mutual Writing (2) Mutual Listening
(3) Sentence Dictation (4) Mutual Dictation

112. Which of the following is NOT true of Sign Language ?
(1) Sign language has many varieties.

(2) Sign language is a natural language.
(3) Sign language does not have a grammar.
(4) Sign language has a grammar.

113. Which one of the following is true of the three language formula ?
(1) Mother tongue/home language/regional language as the first language.

(2) English/Hindi/home language/local language as the first language.
(3) Mother tongue/home language/Hindi as the first language.
(4) Mother tongue/home language/English as the first language.

114. Remedial teaching is for :

(1) learners who need attention on certain aspects of language learning.

(2) teachers who need to modify their teaching for certain student to learn the language.
(3) learners and teachers to understand and modify/improve their teaching/learning strategies.
(4) learners and teachers to enhance the scores in the examination in language paper.
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115.

116.

117.

118.

119.

120.

A method of teaching in which a teacher and four students form a collaborative learning group
with different roles. Dialogues occur on the content of the text passage, which creates a zone of
proximal development in which reading comprehension improves. This method is referred to as :

(1) Grammar Translation Method  (2) Reciprocal Teaching
(38) Structural Approach (4) Model Reading

A language teacher tells a story in English and asks learners to work in group to tell the story in the
languages known to them and then in the common language of the classroom. What is this
pedagogical strategy known as ?

(1) Translanguaging (2) Multilingual policy
(3) Multilanguage teaching (4) Language acquisition

A learner reads through the news item in the newspaper to know specific information. This
reading is known as

(1) Critical reading (2) Skimming (3) Scanning (4) Study skill

What is “interlingual identification” ?

(1) Learner’s judgment that something in the native language and something in the target
language are similar.

(2) Learner’s judgment that something in the native language and something in the target
language are dissimilar.

(3) Learner’s judgment that the knowledge of the native language interferes in the learning of
second language.

(4) Learner’s understanding that learning of different languages warrants different abilities.

Shreya is a Class VI learner who moves from the Jalander in Punjab to Madurai in Tamil Nadu as
her father has been transferred. She knows Punjabi as her mother tongue and English language
she studies as her second language in school. She is able to speak and read Tamil learning from her

neighbourhood. Which one of the following statements is true based on the languages she now
knows ?

(1) Her Punjabi and Tamil come under language acquisition and English comes under language
learning.

(2) Her Tamil comes under language acquisition and English and Punjabi come under language
learning.

(3)  All the three languages, Punjabi, Tamil and English under language learning.

(4) Her English comes under language acquisition and Punjabi and Tamil come under language
learning.

Which of the following is NOT the purpose of extensive reading ?
(1) Reading for appreciation (2) Reading for extrapolation

(3) Reading for learning grammar (4) Reading for pleasure
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PART -V
LANGUAGE - 1l : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they
have opted for ENGLISH as LANGUAGE-II only.

Read the given passage and answer the questions that follow, (121-128)

1.  The loss in earnings that farmers see due to extreme weather events or erratic seasonality is, by
now, accepted as the most widely felt economic impact of climate change. Farmers were the first
people to feel the impacts of climate change, which ultimately affects the country’s overall
agricultural output and adds to food inflation. High food prices, in turn, could result in people

slashing down consumption, which adversely impacts nutritional security.

2. A significant number of farming households produce food for their own consumption. These
households have given birth to an old saying : those who eat their own food are the healthiest. In
countries like India, where malnutrition is high and food insecurity is a nagging constant, such
households have used the home production system to remain out of this crisis. As studies point
out, these households are also protected from market fluctuations, thus ensuring that they can

afford healthy food. Obviously, they are not impacted by food inflation either.

3.  Butthere are serious conversations taking place over how climate change-induced extreme weather
events would impact such households. We need to understand the link between nutrition intake
and household food production, and whether weather fluctuations would have any impact on
this. Researchers have analysed village level data from households with their own food production
and consumption, and co-related this with the local weather conditions to infer whether there
was a correlation. The paper establishes that people growing their own food consume more, thus
adding to nutrition levels and attaining overall food security. There was also reduction in child
stunting and underweight conditions as well as women achieving a normal body mass index.

These trends are more pronounced in remote villages.

121. Read the following sentences :
a) A significant number of Indian households afford healthy food.

(

(b) Household food production has limited impact on food inflation.
(c) Food insecurity is an occasional phenomenon in India.

(1) (a), (b) and (c) are all incorrect

(2) (a) and (c) are incorrect, (b) is correct

(3) (a) and (b) are incorrect, (c) is correct

(4) (b) and (c) are incorrect, (a) is correct

122. Identify the parts of speech of the underlined words.

A significant number of farming households produce food for their own consumption.

(1) adjective, pronoun (2) adverb, pronoun
(3) noun, adjective (4) noun, pronoun

123. Complete the given word analogy :

local : global : : erratic: _?
(1) Dbelievable (2) consistent (3) disputable (4) dependable
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124. What is correct about the health status of farmers who take to household food production ?
(1) children are malnourished (2) Dbetter nutritional intake
(3) stunted growth of children (4) women with higher body mass index

125. By which word can the underlined word be replaced in the given sentence ?

‘These trends are more pronounced in remote areas.’

(1) disregarded (2) important (3) noticeable (4) ignored

126. As mentioned in para 1, what is the series of events that are triggered by climate change ?
(a) increase in prices of food items
(b)  detrimental effect on nutritional security
(c) extreme weather conditions
(d) reduced food consumption
(1) (@)= (d) = () — (b) (2) (0 = (@) = (d) — (b)
B (®)—=@©—(d->@ @) ©—=(®)—(d->@

127. Some households have remained out of the crisis of food insecurity by adopting -
1)  high food prices

2) climate change conditions

3) protection from extreme weather conditions

4)  home production systems

128. Which statement is incorrect with regard to household food production ?
(1) Nutritional intake was better
(2) Food consumption in such households was higher
(3) Women enjoyed normal body mass index
(4) Increase in number of malnourished children

Read the given extract and answer the questions that follow. (129-135)

1. Untouchable, a charming French comedy about two friends who have almost nothing in common,
has been a huge international success. But before the story became a cinematic sensation, how
exactly did a rich French aristocrat and an Algerian immigrant with a criminal past become good
friends ? Philip and Abdul first met in Paris in 1993 when Philip was looking for a nurse. He was
from a very wealthy family. At one time he had been a successful business man, living a life of
great luxury. Then he had a terrible paragliding accident and lost the use of his arms and legs.
Life in a wheelchair was lonely and boring. Philip was struggling to imagine the future, and he
needed practical help with his day-to-day life.

2. Philip interviewed more than 80 people for the job of a nurse. But none of them seemed right.
Then he met Abdul, who had quit a life of crime in Algeria and moved to France to look for work.
He was lively, intelligent and quick-thinking, with a crazy sense of humour. Philip got on with
Abdul immediately, and he offered him the job. The two men didn’t have much in common.
Abdul loved pop music, but Philip preferred classical music. Philip loved modern art, but Abdul
hated it. Philip’s family was sure that he had made a bad choice. They believed that Philip needed
someone much more sensible. Meanwhile, Abdul wasn’t planning on staying in the job for long.

3.  However, their working relationship quickly developed into a close friendship. Abdul gave Philip
the support he needed. More importantly, his energy and sense of humour brought fun and
excitement back into Philip’s life. Abdul helped Philip make trips to other countries. Both of them
now live in different countries, each with a wife and family. They keep in touch regularly. All that
really matters to their friendship, though, it is their shared love of laughter and adventure.
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129. Read the sentences given below :
(a) ‘Untouchable’ is a French comedy movie.

(b) The theme revolves around 2 friends, Philip and Abdul, who have similar tastes.
(c) The movie was a huge success in France and Algeria.

(1) (a), (b) and (c) are all incorrect

(2) (a) and (c) are correct, (b) is incorrect

(3) (b) and (c) are incorrect, (a) is correct

(4) (a) and (b) are correct, (c) is incorrect

130. Complete the given word analogy :
Luxury : opulence : : sensation: ?
(1) disaster (2) callousness (3) feeling (4) suspicion

131. What bound the two very different men together for years ?
(1) their love for adventure sports  (2) warm friendship
(3) love for music (4) their immigration status

132. Why did Philip need a nurse ?
(1) To wipe out Abdul’s criminal past.
(2) To help him with day-to-day practical things of life.
(38) To listen to classical music together.
(4) To resolve Abdul’s immigration status.

133. Abdul migrated to France to -
(1) work in the movie industry (2) run away from the Algerian police
(3) listen to pop music (4) search for employment

134. Which aspect of Abdul’s personality is not true ?
(1) He had a criminal past record.
(2) He was quick-witted and supportive.
(3) He shared a close rapport with his employer.
(4) He preferred listening to classical music.

135. Identify the parts of speech of the underlined words.

However, their working relationship quickly developed into a close friendship.

(1) adjective, adverb (2) verb, adverb
(3) adjective, verb (4) noun, adverb

136. Which of the following methods advocates oral drilling and “mastery of the formal properties of
language’ as essential for language learning ?
(1) Audiolingualism
(2) Communicative language teaching
(3) Grammar translation method
(4) Total Physical Response
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138.

139.

140.

141.

142.

143.

144.

Elam is a student of class VIl is able to speak four languages, Kannada, Marathi, Hindi and English.
He uses all the four languages freely when he speaks to his parents at home and in school he uses
Hindi, Kannada and English as these are the language known to his friends and teachers. What is
this practice known as ?

(1) Translingual ability (2) Code-meshing

(38) Code-moving (4) Interlanguage

Which one of the following statements is true of language learning ?

(1) Knowledge of the native/first language interferes in the learning of second language.

(2) Knowledge of the native/first language has nothing to do in the learning of second language.
(38) Knowledge of the native/first language supports in the learning of second language.

(4) First language learning and second language are completely distinct.

A teacher of class VI brought items like spoon, plate, utensils, boxes and pan to her classroom to
teach vocabulary from there writing a description of objects in kitchen. What are these objects
known as in language teaching ?

(1) Teaching materials (2) Realia

(38) Cooking items (4) Real life tasks

Declarative knowledge is

(1) knowing to pronounce word in a language.

(2) knowledge about the grammatical item.

(3) knowing how to identify an error in a grammatical item.
(4) knowing how to do the grammatical item.

Here is a situation where students were exposed to the opposite perspective of the subject under
consideration to allow them to further understand it. What does this process attempt to promote
among learners ?

(1) Critical analysis (2) Process based pedagogy

(38)  Critical Literacy (4) Literacy development

What is ‘Translanguaging’ ?

(1) Itrefers to moving from one language to another language while teaching-learning languages.
(2) It refers to understanding how languages change over the period of time.

(38) Itis a pedagogical process of using more than one language as resources in a classroom.

(4) It is language-in-education policy on how many languages are to be taught in a school.

Which of the following processes involved for learning to write well in a language ?
(1) Braining storming - making an outline - drafting - jotting down points - editing - finalizing.
(2) Braining storming - jotting down points - writing the draft - making an outline - editing -

finalising.

(3) Braining storming - jotting down points - writing the draft - editing - making an outline -
finalizing.

(4) Braining storming - jotting down points - making an outline - writing the draft - editing -
finalising.

Learners in a class of Social Science try to capture the main ideas of the classroom lecture and
make point of the lecture. What is this skill known as ?
(1) Study skill (2) Listeningskill (3) Writing skill (4) Cognitive skill
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Here is a question. Read and find out which typology of question it belongs to.

Having read the story of the little girl, you feel moved by her suffering and courage to face the
trouble. You would write a letter to the little girl appreciating her. Write the letter in about 120
words.

(1) Expressive questions (2) Long answer question

(3)  Extrapolative question (4) Discursive question

A teacher in class VIII read out a text of five sentences in English twice and asked her learners to
listen to the text carefully. Then she asked them to work in group of four to recreate text nearer to
the one read out, not exactly the same. What is this activity known as ?

(1) Writing task (2) Paragraph Dictation
(3) Collective Dictation (4) Listening task

This refers to the proficiency in academic language or language needed for various content areas.

(1) Inter-language proficiency

(2) Basic Interpersonal Communication Skills (BICS)
(8) Communicative language proficiency
(4) Cognitive Academic Language Proficiency (CALP)

Which of the following is NOT true of National Education Policy 2020 on language education ?
(1) Study of a classical language under three language formula.

(2) Study of mother tongue/home language under three language formula.
(3) Study of Indian languages under three language formula.
(4) Study of English as language under three language formula.

Which one of the following is true of the three language formula ?

(1)  All children begin their schooling in the medium of English/home language and move on to
add at least two more languages by the time they complete their high school.

(2)  All children begin their schooling in their state language and move on to add at least two
more languages by the time they complete their high school.

(3)  All children begin their schooling in the official language, Hindi and move on to add at least
two more languages by the time they complete their high school.

(4) All children begin their schooling in their mother tongue/home language and move on to
add at least two more languages by the time they complete their high school.

Learning Outcomes attempt to enable learner to :

(1) attain the grammatical knowledge in measurable terms.

(2) attain the competencies in measurable terms.
(3) attain minimum levels of learning of all skills.
(4) attain language components in measurable terms.
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

fereafaRad ferden B e A U -

1. The mannerin which the different questions are to be answered has been | 1. forr g A fafdrer geal & 3R U o € 33 avfer wdten
explained in the Test Booklet which you should read carefully before actually gﬁﬂ?ﬁ[ # feparm orm g, forY 31y Uea & ¥ ¢ A Uee! e A UG
answering the questions. il

2. Outof the four alternatives for each question, only one circle forthe correct | 2. TG U9e & U feU o0 IR fadedl & & I 3R & fav OMR
answer is to be darkened completely with Blue / Black Ball Point Pen on IRIT P T%-2 R &dcT U T B a uﬁ TG eAei/dTel dict Uigee
Side-2 of the OMR Answer Sheet. The answer once marked is not liable I Y| U R AT b B & q1e 37 deeT el o Fhdl
to be changed. 3

3. Thecandidates should ensure that the Answer Sheetis notfolded. Donot | 3 gfiereff g%r?@aa & 5 39 307 U9 ) A1E F 0 Ud W W aﬁ‘%
make any stray marks on the Answer Sheet. Do not write your Roll No. 31 Ryore @ @S| whenelf arua 3W e T
anywhere else except in the specified space in the Answer Sheet. N Samp——
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circumstances (except for discrepancy in Test Booklet Code or Number 55 : 3 5 . . .
and Answer Sheet Code or Number), another set will be provided. ?ﬂa;%a%ﬁﬁ;% Eﬁ‘rq?;agr‘im) Egaﬁ?ﬁs?q ﬂj i maﬁ air

S JRABT JUcfed] GeRIp]|

5. The candidates will write the correct Test Booklet Code and Number as et
given in the Test Booklet/Answer Sheet in the Attendance Sheet. 5, e oReEsR T & R U e O S

6. A machine \;vill read the coded ir;tformation in the OMR Answer Sﬁheet. ' yHenelt T& 9% I uRafy-uw #

Hence, noinformation should be leftincomplete and it should not be different B 5 -
from the information given in the Admit Card. 6. %MRW q;aﬁ B2 3y El;ﬁ Wﬁﬂ;ﬂ;fg # | ; E; Y ajg
Yl R o Blg 3R Jg Y-l el A [Hesl

7. Candidates are not allowed to carry any textual material, printed or written, el TR
bits of papers, pager, mobile phone, electronic device or any other material o .
except the Admit Card inside the examination hall/room. 7. wdtenelf gr wdem 'E»'IFT/EE;%\T ﬁ TAA-T & %’dWN wﬁmﬁ TR B
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8. Mobile phones, wireless communication devices (even in switched off FE sﬁ’c@ﬁ%{cﬁ Jueoer o R5oft 31 B 3 T @ o o A
mode) and the other banned items should not be brought in the examination f’ 3 @ 3 ey
halls/rooms. Failing to comply with this instruction, it will be considered as g ) . . )
using unfair means in the examination and action will be taken againstthe | 8. dIaTSel Bid, a?ﬂ? AR gﬁﬂ?ﬂ (R 3T 3razer & o) 3k 3=
candidate including cancellation of examination. yfoafed axqu Tten eicmer & 8 oTg ool aifeu | 3 Jgel H
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10. No candidate, without special permission of the Centre Superintendent or o 5 THenel. Rrfters @y s T
Invigilator, should leave his/her seat. 9. 933 w afredt, &ich I 3ATell YR !
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11. The candidates should not leave the Examination Hall/Room without handing iﬁ é B | K g § wi
over their Answer Sheet to the Invigilator on duty and sign the Attendance el eTel o SIS )

Sheet twice. Cases where candidate has not signed the Attendance Sheet | 11. & 33 fordieres &1 3T 3a¥ U7 ieu faen va uRefe-ua W gdR
second time will be deemed not to have handed over the Answer Sheet and gxrery fopu faem utemelt wdten alc/mer @ w1 afe feedt
dealt with as an unfair means case. The candidates are also required to Terelt o a(:m“r IR JuRefa-usr W gxder 98 fu, @ I8 AN
put their left hand THUMB impression in the space provided in the SO R 39 3T U o ailery § 3R g 3@1%‘3 Jled BT
Attendance Sheet. HIHCT e ST | Tl 3rae Ty arer 3 3oy ot ferermer sufarfar-

12. Use of Electronic/Manual Calculator is prohibited. 5 & U 910 9 TR 319 v |

13. The candidates are governed by all Rules and Regulations of the Examining | 12. Sciagiierb/gacalicla URGed &l Juair afeid &1
Body with regard to their conduct in the Examination Hall/Room. Allcases | 43, udflerr &far/mer & 3maewr & forp gdtemelf uderor wwem & woft
of unfair means will be dealt with as per Rules and Regulations of the forralt vg Rferret grr R ¥ 3@%‘?[ et ¥ T A B
Examining Body. el T e & et v R & areEw

14. Np part of the Test Booklet and Answer Sheet shall be detached under any 14, T5adY oft oNNafy & wden Eﬁa-ﬂ 3 T T F Elﬁ'sf HTOT 37T
circumstances. el

15. On completion of the test, the candidate must hand over the Answer | 4 5. UdeT JeU A R, wdemeff ara/mer Eﬂgﬁ A qgf I 73 erdlere
Sheet to the Invigilator in the Hall / Room. The candidates are P s AT | gdemel 399 T 57 7 gﬁ?ﬂ:‘l o & o7 TB
allowed to take away this Test Booklet with them. ¥/
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